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Question Number : 1 Question Id : 753229203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A series is given with one term wrong. Select that wrong term from the given alternatives.
LC, OI, RO, UU, WA, AG

Options :
1. # Ol

2. % UU
3. ¥ WA
4. % AG

Question Number : 1 Question Id : 753229203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS 3 foar T ], fored 9 U ug T 8 | 73U 7Y fawedt #f 9 39 71ad ug & gu|
LC, O, RO, UU, WA, AG

Options :

1. # Ol

2. % UU

3. ¥ WA

4. % AG

Question Number : 2 Question Id : 753229204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Arrange the given words in the sequence in which they occur in the dictionary.
1. Tangleberries

2. Tangentiality

3. Tangibilities

4. Tangoreceptor

5. Tangentially

Options :

1. ¥ 25314
2. % 52314
3. % 25134
4. % 52134

Question Number : 2 Question Id : 753229204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafRad Wea! & U I H 3 aTa HH & SHTIR ford |
1. Tangleberries

2. Tangentiality

3. Tangibilities

4. Tangoreceptor

5. Tangentially




Options :

1. ¥ 25314
2. % 52314
3. % 25134
4. % 52134

Question Number : 3 Question Id : 753229205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the odd word from the given alternatives.
Options :

1. ¥ Cow

2. % Elephant

3. % Fox

4. % Horse

Question Number : 3 Question Id : 753229205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferad uy & fau 7u fawedl & 9 favm 2sg o1 gAu|
Options :

1. # 1Y

2. % gt

3. ¢ A

4. % 9

Question Number : 4 Question Id : 753229206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the related letters from the given alternatives.
NQ:PS:PJ:?
Options :



1. * RM
2. % SL
3. ¥ SM
4. ¥ RL

Question Number : 4 Question Id : 753229206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRad oy & fou 7o fowed! & @ Sefda sieri &1 gl
NQ:PS:PJ:?

Options :

1. #* RM

2. % SL

3. % SM

4. ¥ RL

Question Number : 5 Question Id : 753229207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the related word pair from the given alternatives.
Lizard : Reptile :: ?

Options :

1. ¥ Frog : Amphibian

2. % Butterfly : Bird

3. ¥ Amphibian : Bat

4. % Whale : Fish

Question Number : 5 Question Id : 753229207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafaRad vy # i 77T fow el & 9 Hefid 2sg g™ &1 gHu|
Tl . Ty :: 2



Options :

1. ¢ Hedh : SUTR

2. % fada : geft

3. ® HIIR : JHIIGS
4. % g : g3l

Question Number : 6 Question Id : 753229208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘AT’ is written as ‘33°, ‘BOX’ is written as ‘40’. What is the code for ‘CLASS’ in that code language?
Options :

1. ® 56

2. % 66

3. ¥ 81

4. % 86

Question Number : 6 Question Id : 753229208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS fARIS HIg U &, ‘AT FY 33° foRaT ST §, “BOX” Y 40’ foraT ST §1 50 IS TN H ‘CLASS’ FT HIS T 82
Options :

1. % 56

2. % 66

3. ¥ 81

4. % 86

Question Number : 7 Question Id : 753229209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Five persons P, Q, R, S and T sit around a circular table facing towards the centre (not necessarily in the same order). R sits second to the left of

T. Q sits second to the right of P. P is a neighbour of T.
Who sits to the immediate left of S?



Options :
1. * P
2.9 Q
3. % R
4. % T

Question Number : 7 Question Id : 753229209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

O A P, Q, R, S TUT T UH IR HSl & 3g-11Tg, hg P 3R TG HRh 964 & (e ol B g8 A A BN R, T P T 3R G RIM
Wéﬁ%lQ,P%ﬂ@??WﬂﬁW%lnTwu@@%

S & q¥d T 3R DI 93T 82

Options :

L% P

2.¥Q

3. %R

4. % T

Question Number : 8 Question Id : 753229210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Six boxes B1, B2, B3, B4, B5 and B6 are kept one above the other (not necessarily in the same order). Three boxes are kept between B2 and B6.
B2 is kept above B6. One box is kept between B4 and B5. B4 is kept just above B1. One box is kept between B5 and B3.

Which of the following statement is correct?

I. Two boxes are kept between B4 and B6.

II. B1 is kept just above B3.

Options :

1. ¥ Only I

2. % Only II

3. % BothIand II
4. % Neither I nor II



Question Number : 8 Question Id : 753229210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

38 S B1, B2, B3, B4, B5 04T B6 B UH-GIX & 3 UR QT I § (S<! ol Bt 341 H T 81| B2 TUT B6 & aird H i< garil bl Il
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fafeiad 7 @ o 91wy I8t 82

I. B4 dUTB6 & S A Gl 991 &I I@T ST 8 |

II. Bl 1 B3 & 3% 3 UR 3@ oildl g

Options :

1. ¥ FHad |
2. % Had Il
3. % [ UGl
4. % qGIIATRIII

Question Number : 9 Question Id : 753229211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If ‘P * Q” means ‘P is the mother of Q’, ‘P # Q” means ‘P is the father of Q’, ‘P @ Q’ means ‘P is the son of Q’, ‘P $ Q’ means ‘P is the brother
of Q” and ‘P + Q’ means ‘P is the sister of Q’, then which of the following expression represents F as the father of D?

Options :

1.* A#B*C@DSE+F
2. ¥ A@B+C*DSE@F
3. * ASB+C@D#E*F
4. * A#B#C@D+ESF

Question Number : 9 Question Id : 753229211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gl P * Q BT P, QB AR, P #Q B3 P, QBIUAE, P @ Q HT 3 P, QBIYAE’, ‘P $ Q BT 31 ‘P, Q BT HIS & U P +
Q &1 3 P, Q Bt 58 3, Al Ffifad & Q o4 91 T F &Y D &1 T g2ifar 82

Options :

I.® A#B*C@DSE+F



2.YA@B+C*DSE@F
3.8 ASB+C@DH#E*F
4. % A#B#C@D+ES$F

Question Number : 10 Question Id : 753229212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:

I. Some P are Q.

II. All Q are T.

Conclusions:

I. AllP are T.

II. Some P are not Q.

Options :

1. # Only conclusion I follows

2. % Only conclusion II follows

3. ¥ Both conclusion I and II follows

4. % Neither conclusion follows

Question Number : 10 Question Id : 753229212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

H feu T Uy B $B HUT 3R 39 d1e 3T HYAl W 3NURd $3 Fspd 3w mu 7| fou T sy & 98t 7, 718 3 9 91d awt
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DHY-:
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Options :




1. ® PHad (hY [ 3R &Rl &
2. % Had (SHY 11 SR Hl §
3. % GHFI FSHY 1 TT 11 SR H-d &
4. ¢ B 1t FIspy SR T BraT §

Question Number : 11 Question Id : 753229213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:

I. All P are Q.

II. Some Q are T.

II. Al T are D.

Conclusions:

I. Some Q are D.

II. Some D are P.

III. Some P are T.

Options :

1. ¥ Only conclusion I follows

2. % Only conclusion III follows

3. % Both conclusion I and II follows

4. % All conclusion follow

Question Number : 11 Question Id : 753229213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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fsep:

L$SQ, D3I
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L. $SP,TRI

Options :

1. ¢ $Had [T5HY [ 3IERU Hal §

2. % Had fAHY [11 3IIRU Sl §

3. % GHI 5B Y 1 TT 11 SR H-d §
4. % Juft Frsp e SR Hvd §

Question Number : 12 Question Id : 753229214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the missing number from the given series.
1,2,6,21,88,?

Options :
1. % 440
2.9 445
3. % 450
4. % 455

Question Number : 12 Question Id : 753229214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraforRad oy & <t 7S Yae & § qu 8f I Fifor|

1,2,6,21,88,?
Options :
1. % 440
2. ¥ 445
3. % 450
4. % 455




Question Number : 13 Question Id : 753229215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the odd group of numbers from the given alternatives.
Options :

1. # (76,228, 456)

2. % (88,264, 528)

3. % (96, 288, 576)

4. ¥ (66, 196, 392)

Question Number : 13 Question Id : 753229215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy d, fad e faeedt # 9 Jemsi & favd 9g 1 g
Options :

1. % (76,228, 456)

2. % (88,264, 528)

3. % (96,288, 576)

4. ¥ (66, 196, 392)

Question Number : 14 Question Id : 753229216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many students are both authors and teachers?



9 68
48 — Student

Teacher
Authors

Options :
1.¥5

2. %20
3. % 48
4, % 53

Question Number : 14 Question Id : 753229216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fpam faemeif, <Raes T 3reamyss gl 82

9 68

L1 48 —Eaaﬂliﬂ

16[3

15) 11
14 I\‘

SLeCT A
Options :
1.¥5
2. % 20

3. % 48



4, % 53

Question Number : 15 Question Id : 753229217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Based on the given venn diagram, which of the following statement is correct?

I. The number of blue which are neither yellow nor red is 41.
II. The number of red which are not yellow is 102.

Yellow
Red
13421
/ 45 |36
4 Blue

Options :
1. % Only I
2. % Only IT

3. % BothIand II
4, % Neither I nor 11

Question Number : 15 Question Id : 753229217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faQ U 37 3T & YR R, Fuferiad & T &9 91wy 981 82
LI AN U TS A 8, P I 41 B



1. 98 o1 ol el el &, 1 T3 102 B

ey —/ 44
CIG]
15/ 21
/ 45 |36
41 Eﬁ?}'
Options :
1. ¥ $Had |
2. % dhad Il
3. % [ UGl

4. % BB

Question Number : 16 Question Id : 753229218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Aman starts from point A and walks 5 km towards north. He turn to left and walks 10 km. He turns to left and walks 15 km. He turns to right and
walks 5 km. He finally turns to right and walks 10 km.
In which direction is he now from the starting point A?

Options :
1. # East
2. ¥ West
3. % North-West
4. # South-West

Question Number : 16 Question Id : 753229218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 fdg A T 3RH FHRlT § AT 5 fh . ST B1 3R Iaa & | T8 IR SR S § a0 10 f5. 1. Iaar 8| a8 Irff iR a1 g aul 15
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I8 IR foig A T o for flazm # g2
Options :

1. % qd

2. ¥ Ufgy

3. % JR-UEH

4. % Glgoruigm

Question Number : 17 Question Id : 753229219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A person is facing east. He rotates 135 degree in the clockwise direction. He rotates 90 degree in the anti-clockwise direction. He rotates 270
degree in the clockwise direction. He rotates 45 degree in the clockwise direction. He rotates 135 degree in the clockwise direction. Finally he
rotates 180 degree in the anti-clockwise direction. In which direction is he facing now?

Options :

1. # North-West
2. ®% South-West
3. % South-East
4. ¥ North-East

Question Number : 17 Question Id : 753229219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U e d 1 3R 4 QT 8 | 98 Sferunad fe=m & 135 f3f grdr 81 a8 amiad fexn # 9o f&3ft grar § 1 98 <fdmmad fazm & 270 foht
%ﬁ%ﬁfmﬁgﬁ% feofY gure 81 9 féomad fa=m & 135 feuht grar 31 siqd: a8 amiad = & 180 fEf guar 81 e g
el ®?

Options :

1. ® ITR-UGH
2. % clgorufgm
3. % GRaurgd
4. ¢ IR

Question Number : 18 Question Id : 753229220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the odd figure from the given alternatives.

Options :
A A A
A A A
N A A
1. #
AAA
AAA
AAA
2. %
A A A
A A
A A A
3. ¢
A
A A,
A A
A A
4, %

Question Number : 18 Question Id : 753229220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fraferRad uy o, fau 7 fasedl & 4 faww siepfd &1 gHT|

Options :



[l
> DD
v

1. ®

AAA
AAA
AAA

A A A
A A
A A A

3. ¢

BB
PP
*

Question Number : 19 Question Id : 753229221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a mirror is placed on the line AB, then which of the answer figures is the right image of the given figure?
A

<H

gl

Options :




0 [

al:

cal;

Question Number : 19 Question Id : 753229221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e T U0 BT AB AT TR AT ST, & 718 ITR S faat T F HiH It 3repfa Uy 3nrepfa o1 et ufafdd grfe
.q]_l

L

Options :

LI

v




=5
L
>

e

Question Number : 20 Question Id : 753229222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given answer figures, select the one in which the question figure is hidden/embedded.

v[t:v

Options :

2. 8



XX

Question Number : 20 Question Id : 753229222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A TS IR 3P H Y IY IR 3 a b1 g g & v snpfa AR 21
vt?:.v

Options :

2. ®
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20

20

Yes
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75322915
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Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Golconda fort is situated in which state of India?
Options :

1. #* Himachal Pradesh

2. # Tamil Nadu

3. # Karnataka

4. ¥ Telangana

Question Number : 21 Question Id : 753229223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
eIl farell HRd & ford I H FRUd 52
Options :

1. % feurEd uew

2. % qeArg

3. % BAICH

4. AT

Question Number : 22 Question Id : 753229224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following pair of classical dance form — state is correct?
I. Bharatnatyam — Karnataka
II. Mohiniyattam — Kerala

Options :

1. % Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 22 Question Id : 753229224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R T - 9 &1 FEfafad & J &9 91 3 98t 82
I. YRAHICIH — Hlcdh

1. Aifgferey — xd

Options :

1. % Had |

2.+ Had 11

3. % [ QAT Ml

4. % AIGIATEI

Question Number : 23 Question Id : 753229225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is an example of intermediate goods?
I. Steel sheets used for making automobiles
I1. Copper used for making utensils

Options :

l. % Only I

2. % Only II

3. % BothIand II
4. #® Neither I nor II

Question Number : 23 Question Id : 753229225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifad # & S a1 Feaadf axgail o1 U Iexur 82

. SfcrAaTgd AT & forT S¥a9Td 81 aTelt 3¥Td &1 TeR
1. S 9T o T8 S¥HTA 814 aTelT didl

Options :

1. % $had |

2. % Had I




3. 1dUT 11 Sl
4. % FIAIATA

Question Number : 24 Question Id : 753229226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is correct regarding gross primary deficit?
Options :

1. ¢ Gross fiscal deficit — net interest liabilities

2. ® Gross fiscal deficit + net interest liabilities

3. # Gross fiscal deficit / net interest liabilities

4. ® Gross fiscal deficit x net interest liabilities

Question Number : 24 Question Id : 753229226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

b WA g1c & e H D 91 Il 82
Options :

1. ¥ GHd AN 9l - Fad st i
2. % Gohdl ASID NG Ul + FHad <a1el I
3. % Hobd ASDIYY UreT / fHaet <Al Gl

4. % gohd JoIh NG °TeT x Fad s <1Rid

Question Number : 25 Question Id : 753229227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is NOT correct for electric potential difference?

Options :
1. # V=(W/Q)
2.8 W=VxQ

3. % Q=(W/V)



4.¥YV=WxQ

Question Number : 25 Question Id : 753229227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faggd favaiar & forg FofafEa & 9 o9 a1 ae) 76t 32
Options :

1. = V=(W/Q)

2.% W=VxQ

3. % Q=(W/V)

4. ¥ V=W xQ

Question Number : 26 Question Id : 753229228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
pH value of milk of magnesia is

Options :

1. =7

2.% 8

3.% 13

4.4 10

Question Number : 26 Question Id : 753229228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
firee 3ifh FERRM™T &1 pH 71 gl
Options :

1. %7

2. % 8

3. % 13

4. 10



Question Number : 27 Question Id : 753229229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Jellyfish is an example of

Options :

1. ¥ Coelenterata

2. # Pisces

3. ® Echinodermata

4. ¥ Annelida

Question Number : 27 Question Id : 753229229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
iR &1 U IARRU 5|
Options :

1. ¢ Hicdewer

2. % HY

3. % IHIEASHCT

4. % TAferST

Question Number : 28 Question Id : 753229230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which type of farming, a single crop is grown on a large area?
Options :

1. % Primitive subsistence farming

2. % Intensive subsistence farming

3. ¥ Plantation farming

4. # Horticulture

Question Number : 28 Question Id : 753229230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

g gpR o Wt & de-31S &9 & Uehd HId a5 Sdl 82
Options :

1. % URfe Sfifger ot iy

2. % TG SilfdpT HiY

3. ¢ U0 By

4. % §ETAM!

Question Number : 29 Question Id : 753229231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following rivers makes the second biggest waterfall in India?
Options :

1. # Krishna

2. ¥ Kaveri

3. ¥ Mahanadi

4. ® Godavari

Question Number : 29 Question Id : 753229231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafied & 9 & T 7t URd & OR1 9o 981 STayaTd a1 82
Options :

1. % pun

2. ¥ FHIa

3. % OgHdl

4. % TEra’l

Question Number : 30 Question Id : 753229232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is correct?
I. The laterite soil develops in areas with high temperature and heavy rainfall.
II. Laterite soil is useful for growing tea and coffee.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 30 Question Id : 753229232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faffed & @ ®F 9 &Y 981 /2
. W18 HeT &1 At 3= argam qur Uit auf ara &3 § gt 81|
1. TCRTSC HaT 1 qUT Hith! I & fore Iuaift gt g

Options :

1. % $ad 1

2. % Had Il

3. ¢ 1 AU Gl
4. % I I

Question Number : 31 Question Id : 753229233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following was NOT a leader from radical section of congress?
Options :

1. ¥ Dada Bhai Naoroji

2. % Bepin Chandra Pal

3. % Bal Gangadhar Tilak

4. % Lala Lajpat Rai



Question Number : 31 Question Id : 753229233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 & S & Smd uRad-aret ai & a1 Tal 22
Options :

1. ¢ Qa1 4TS ARSI

2. % fofte g ura

3. ® o1 TMeR foefed

4, % Il e d g

Question Number : 32 Question Id : 753229234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Buranjis were the historical works written by
Options :

1. ¥ Ahoms

2. % Gonds

3. ¥ Hunas

4. % Chandelas

Question Number : 32 Question Id : 753229234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g ¥ gr fere i QfeTRie Hiaar i

Options :
1. ¥ 3
2. % TS
3. % gUl
4. % Tdd

Question Number : 33 Question Id : 753229235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is correct?
I. Poona became the capital of the Marathas in eighteenth century.
II. Guru Gobind Singh was the 9th Guru of the Sikhs.

Options :

1. % Only I

2. % Only IT

3. % BothIand II
4. % Neither I nor II

Question Number : 33 Question Id : 753229235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # ¥ o 91 Hy= 98t 82

I. JUI 3{3REd] ATdlsd] T URIST &b AT &1
11. % Tifag Rig el & id 7% 31

Options :

1. Had |

2. % Had Il

3. % [ UGl

4. % qEIIATR I

Question Number : 34 Question Id : 753229236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following is also called ‘Badshah Khan’ of India?
Options :

1. ¥ Khan Abdul Ghaffar Khan

2. % Maulana Abul Kalam Azad

3. ¥ Maulana Muhammad Ali

4. # Allama Igbal



Question Number : 34 Question Id : 753229236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafafaa o § fd YRd &1 <areng @ Ht Hg1 odr 82
Options :

1. ¢ G 3fegd THRPR WM

2. % HIAHT 3 HAH TG

3. % A WG 3l

4. # 3{cTlTH] Shdld

Question Number : 35 Question Id : 753229237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Shri S.P. Balasubramaniam, who is a recipient of Padma Vibushan in 2021 was associated with which field?
Options :

1. ¥ Art

2. % Literature and Education

3. # Social work

4. % Medicine

Question Number : 35 Question Id : 753229237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ot 7.0, STARgsHuaH S 2021 H U= AW & Urededi 6, fhd & 9 I A
Options :

1. ¥ hdl

2. % g T fRran

3. % IS B

4. % i

Question Number : 36 Question Id : 753229238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which company has developed ‘Coviself” a self use kit for testing COVID19 infection?
Options :

1. # Serum Institute of India

2. # Bharat Biotech

3. % Mylab

4. ®# ICMR

Question Number : 36 Question Id : 753229238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g Bt 3 HIfAS-19 YHAU P U0 & T T Yo gl fovre “pifades ol fawiid fpar 32
Options :

1. ® IRA SReare 3 sfean

2. % YRA TICH

3. ¥ AAS

4. % 315 UL TH.R

Question Number : 37 Question Id : 753229239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

From which country the idea of including the emergency provisions in the constitution of India has been borrowed?
Options :

1. # Canada

2. % South Africa

3. # Ireland

4. ¥ Germany

Question Number : 37 Question Id : 753229239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



HRd & TRYM H T Uraemi & AT B &1 fauR fog <o 3 forar mar g2
Options :

1. % BAST

2. % Gf&fur il

3. % MRS

4. « ST

Question Number : 38 Question Id : 753229240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the constitution of India, which pair of Article — Provision is correct?
I. Article 54 — Election of President
II. Article 17 — Abolition of Untouchability

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 38 Question Id : 753229240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR TfAe™ & SR, — UG BT I AT JH 8! g2
L. 38 54 — AFUT BT

I1. 3¢ 17 — SRR BT 3id

Options :

1. % FHadl
2. % HAd II
3. ¢ QYT I gl
4. % 1B

Question Number : 39 Question Id : 753229241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The head quarters of Badminton World Federation are located in
Options :

1. # Jakarta

2. # Beijing

3. % Kuala Lumpur

4. % Seoul

Question Number : 39 Question Id : 753229241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SSfiici o bR T ey HfRyd gl
Options :

1. % Sopraf

2. % o

3. ¢ PIATAT AR

4. % ¥Ea

Question Number : 40 Question Id : 753229242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following is the first cricketer to receive Khel Ratna Award?
Options :

1. ¥ Sachin Tendulkar

2. % Saurav Ganguly

3. % Rahul Dravid

4. ¥ MS Dhoni

Question Number : 40 Question Id : 753229242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fafaRed # 3§ Wd Id [REHR T $H=- aTdl Ugd fhdhex dH 82
Options :

1. ¢ A dgaax

2. % YRY T

3. % Ygd &fde
4, % TATY. Ul
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Question Number : 41 Question Id : 753229243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the value of 1 +3+5+7+ ...... +79?
Options :

1. ¥ 1600

2. % 1620

3. % 1640

4. % 1580

Question Number : 41 Question Id : 753229243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
14+3+5+7+.....+ 79 BT AF T §?
Options :

1. ¥ 1600

2. % 1620

3. % 1640

4. % 1580

Question Number : 42 Question Id : 753229244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the value of [(1 +2+ 3+ ...... +20)/10]?
Options :

1. % 55

2.9 21

3. % 105

4. % 22

Question Number : 42 Question Id : 753229244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
[(1+2+3+.....+20)/10] BT HHE T 82
Options :

1. % 55

2.¥ 21

3. % 105

4. % 22

Question Number : 43 Question Id : 753229245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What will be the remainder when 143 x 141 x 133 is divided by 6?
Options :

1. * 1

2.% 2

3.3

4. % 4

Question Number : 43 Question Id : 753229245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

143 x 141 x 133 B 6 Y AU B IR ATH T GRIT?
Options :

1. %1

2. %2

3.3

4. % 4

Question Number : 44 Question Id : 753229246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



For what value of M, 75M is divisible by 9?
Options :

1. % 4

2.%5

3.6

4. % 7

Question Number : 44 Question Id : 753229246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
M & {58 O & forg 75M, 9 T faursa 82
Options :

1. % 4

2.% 5

3.6

4. %7

Question Number : 45 Question Id : 753229247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following fraction is the smallest?
Options :

1. % 8§/21

2. % 9/23

3. ¥ 6/17

4. % 6/11

Question Number : 45 Question Id : 753229247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifad & 9 & 91 iy gl Bier 82

Options :



1. # §/21
2. % 9/23
3. ¥ 6/17
4. % 6/11

Question Number : 46 Question Id : 753229248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average weight of two players L and M of a football team is 39 kg. The average weight of L, M and their coach N is 50 kg. What is the
weight of coach?

Options :

1. * 78 kg
2. % T4 kg
3.9 72 kg
4. % 77 kg

Question Number : 46 Question Id : 753229248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS Pesid <H & of RIATS! L aUT M BT 3d HR 39 fH.3. 81 L, M T 3% Ufefeb N T 3id YR 50 .21, ¥ 1 Ufierds &1 YR 1 82
Options :

1. % 78 fb.7.

2. % 74fb .

3.¢ 72 1h .1

4. % 77fH 7.

Question Number : 47 Question Id : 753229249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the value of 125 percent of 50 percent of 120?
Options :

1. ¥ 75



2. % 80
3. % 85
4. %70

Question Number : 47 Question Id : 753229249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

120 % 50 TIRIT & 125 =T BT T HT 52
Options :

1.¥ 75

2. % 80

3. % 85

4. % 70

Question Number : 48 Question Id : 753229250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 25 percent of a number is 60, then what will be the 120 percent of that number?
Options :

1. * 286

2. ¥ 288

3. % 278

4. % 276

Question Number : 48 Question Id : 753229250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T T BT 25 UIARI, 60 ©, TN 39 HBAT BT 120 Uf=Td T SRI?
Options :

1. % 286

2.9 288

3. % 278



4. % 276

Question Number : 49 Question Id : 753229251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 7 times of selling price is equal of 8 times of cost price, then what is the profit percentage?
Options :

1. % 17.66 percent

2. % 18 percent

3. ¥ 14.28 percent

4. % 15.56 percent

Question Number : 49 Question Id : 753229251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e fasha Heg &1 7 A1 50 Hed & 8 AT & SRI6R &, al a1y fa=rd 31 g2
Options :

1. % 17.66 Ufa=rd
2. % 13 gfard

3. ¢ 14.28 gfa=rd
4. % 1556 Ufa2rd

Question Number : 50 Question Id : 753229252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ifa:b=">:c, then what is the value of a8 : b3?
Options :

1. % p3: a8

2.9 g% ¢4

3. % p2 . 2

4. % a2h : bc



Question Number : 50 Question Id : 753229252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AfEa:b=b:cq, dlab: b BIAFRI?
Options :

1. % p8. a8

2.¢ gt ¢t

3. % p2: 2

4. % 22p: b

Question Number : 51 Question Id : 753229253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a school there are total 360 students. The ratio of boys and girls is 7 : 2. If 20 more boys gets admitted into the school, then what will be the
new ratio of boys and girls?

Options :
1. % 11:3
2.% 8:3
3.9 15:4
4. % 15:2

Question Number : 51 Question Id : 753229253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS faeTerd ¥ $d 360 BT § | TSP aUT AShd! T U 7 : 2 81 Tl 20 3R TS faermera & TRaen dd 8, df dsd aul asfdbal &I 7d1

S{UTd &1 g2
Options :

1. % 11:3
2. % 8:3
3.915:4
4. % 15:2




Question Number : 52 Question Id : 753229254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Simple Interest received by a person in 5 years on a principal of Rs. 6000 is 200 percent of the principal. What is the annual rate of interest?
Options :

1. # 20 percent

2. # 25 percent

3. % 40 percent

4. % 50 percent

Question Number : 52 Question Id : 753229254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5 | 6000 ¥UY & TAUH TR T Afad gRT UT TohaT 7T ATERUT &S HAYH T 200 WA=Id § | ST Bt aTives & a1 82
Options :

1. % 20 gfa=rd

2. % 25 gfavrd

3. ¢ 40 Ufa=Id

4. % 50 gfa=ra

Question Number : 53 Question Id : 753229255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A train of length 210 metre crosses a platform of length 370 metre in 20 seconds. What is the speed of the train?
Options :

1. # 25 metre/second

2. % 37 metre/second

3. % 27 metre/second

4. ¥ 29 metre/second



Question Number : 53 Question Id : 753229255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 210 HIeT At YS! Th 370 HieX dd WehiH I UR B H 20 JHUS odl 81 IHTST P i o1 82
Options :

1. % 25 HIY/HHUS

2. % 37 BB

3. % 27 HICRAHUS

4.+ 29 HI/AHUS

Question Number : 54 Question Id : 753229256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A person leaves from city K at 8 am and reaches city M at 1 pm. Another person leaves from city M at 12 pm and reaches city K at 7 pm. At
what time will they meet?

Options :

1. ¥ 12:35 pm
2. % 12:10 pm
3. % 12:55 pm
4. % 12:50 pm

Question Number : 54 Question Id : 753229256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fdd 8 Jalg TR WER K I Fad & 9UT 1 3IRTE TR e M Ugadl & | gORT Afa 12 3IRTg WR e M I Fadr & 9UT 7 3TRIE W
e K Ugadi ¢ | 9 forg g fireii

Options :

1. ¥ 12:35 3WT§

2. % 12:10 AWTE

3. % 12:55 WG

4. % 12:50 WG




Question Number : 55 Question Id : 753229257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

K alone can do (3/10) part of a work in 3 hours. L alone can do (3/5) part of same work in 6 hours. If they work together, then how many hours
will they take to complete (1/2) part of the same work?

Options :

1. * 3 hours
2. % 2.5 hours
3. % 6 hours

4. % 5 hours

Question Number : 55 Question Id : 753229257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

K 31hd U B &7 (3/10) U 3 G T B bl g1 L 3Pbd I B BT (3/5) HITT 6 B H HR Ihdl ¢ | Ife 98 I s srf avd &, <l
I B P (1/2) HFT B IR A & ol 98 a1 T

Options :

1. % 39cT

2. ¥ 2.54c]

3. % ¢YcT

4. % 59cT

Question Number : 56 Question Id : 753229258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Curved surface area of a cylinder is 1760 cm?. If the radius of its base is 10 cm, then what will be the height of this cylinder?
Options :

1. ¥ 28 cm

2. % 14 cm

3. % 21 cm

4. % 35cm



Question Number : 56 Question Id : 753229258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP S99 o1 95 JEIT &% d 1760 T .2 §1 fS 30% YR &1 F3sar 10 Q.11 §, 0 30 Sa &1 SaTs 1 gri?
Options :

1. 239l

2. % 1494

3. % 21 9.

4. % 359 A

Question Number : 57 Question Id : 753229259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is correct?
I. Side of a square is 110 cm. If perimeter of this square is equal to the circumference of a circle, then radius of that circle will be 140 cm.

II. Radius of base and height of a cone are 15 cm and 21 cm respectively. Volume of this cone is 4950 cm’.
Options :

1. % Only I

2.% Only II

3. % Bothland II

4. % Neither I nor II

Question Number : 57 Question Id : 753229259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafIRad & I DI 91 B I8 52

L. U% a1 YT 110 9.1, §1 IS S0 1 &1 URAY T I B URTY & SRR 7, 9 59 Jd $1 B 140 F.4. ift
I1. T P & SMYUR DI 01 qUT SHaTs R 15 9.1, a4 21 T, 51 U AP BT 3T 4950 F.H 3 5
Options :

1. ® Hadl
2. ¥ Had Il
3. % 1 qYT I aHl




4. % ATEIIATSII

Question Number : 58 Question Id : 753229260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The pie chart given below shows the amount spent on salary of five employees by a company. The total amount spent on the salary of all these
employees is Rs. 20000. Amount spent on salary of a particular employee is shown as a percentage of total amount spent on salary of all these
five employees.
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Which of the following statement is correct?
I. Salary of E1 is 20 percent more than the salary of E2.
II. The ratio of salary of E3 and E5 is 5 : 6.

Options :

1. * Only I

2.9 Only II

3. % BothIandII
4. # Neither I nor II

Question Number : 58 Question Id : 753229260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

- fear mar o<t ot U U GRT Ut HHdTRal & ad- IR G Bt T 1R 6 STl § | 37 TH HHAal & ad9 WG9 $1 Ts Hdl A

m%‘qﬁ?l TS fAfIy HHARI & 9a- IR W $i T8 1 B 7 Gl Uia HHAING! & 9 W WG9 B 718 i 1 & Uia=d & =0 J
T3l
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I. E1 31 3d4 E2 & dd T 20 ufazra 31 3|
I1. E3 TYT ES & da &I 3UId 5 : 6 8
Options :

1. % Had 1
2. ¥ HAd Il
3. % [ QYT gHl
4. % I IAB I

Question Number : 59 Question Id : 753229261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The bar graph given below shows the number of working days of two companies in 6 years.
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What is the ratio of average number of working days of company C1 to the average number of working days of company C2?
Options :

1. % 3:
2. % 2
3. % 4.
4.9 4.

U9 b ek

Question Number : 59 Question Id : 753229261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

= e T Tue o 6 auf & €1 ufl & w1l & faHi 3t e & g gl
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S C1 & BT & &1 T d T aUT HU= €2 & BT & &1 b Siqd T ¥ SuTd o1 82
Options :
1.%3:1
2.% 21
3.% 4:1
4.9 4:3

Question Number : 60 Question Id : 753229262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The line chart given below shows demand and supply of six different article.
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J1 = The average demand of articles B, D and F
J2 = The average supply per article
What is the value of J1/J2?

Options :
1. % 5/3
2. 3/2
3. % 52
4, % 4/3

Question Number : 60 Question Id : 753229262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 5/3

2.9 312

3. % 5/

4. % 4/3
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General English
Section Id : 75322915
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 75322917
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 753229263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.
Life has turned for him (1)/ after applying in (2)/ the management programme (3)/.No error (4)

Options :
1. %1
2.9 2
3.%3
4. % 4

Question Number : 61 Question Id : 753229263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.
Life has turned for him (1)/ after applying in (2)/ the management programme (3)/.No error (4)

Options :



1. * 1
2.¥2
3.%3
4. % 4

Question Number : 62 Question Id : 753229264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.
Training programs tend to suggest that (1)/ a widely variety of conduct could (2)/ potentially be considered harassment (3)/.No error (4)

Options :
1. %1
2.9 2
3.%3
4. % 4

Question Number : 62 Question Id : 753229264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.
Training programs tend to suggest that (1)/ a widely variety of conduct could (2)/ potentially be considered harassment (3)/.No error (4)

Options :
1. %1
2.9 2
3.%3
4. % 4

Question Number : 63 Question Id : 753229265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No

improvement’ as your answer.
Please lent me your notebook.



Options :
1. # lended
2. ¥ lend
3. # lends

4. ¥ No improvement

Question Number : 63 Question Id : 753229265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.
Please lent me your notebook.

Options :
1. # lended
2. ¥ lend
3. # lends

4. ¥ No improvement

Question Number : 64 Question Id : 753229266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.
He is very much thank for your support.

Options :

1. ¥ very thankful

2. % very much thankful
3. * much thanks

4. % No improvement

Question Number : 64 Question Id : 753229266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.
He is very much thank for your support.

Options :

1. ¥ very thankful

2. # very much thankful
3. * much thanks

4. ¥ No improvement

Question Number : 65 Question Id : 753229267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
Yesterday I had a/an chinese food at my favourite restaurant.

Options :

1. ¥ authentic
2. # classical
3. % amateur
4. # dubious

Question Number : 65 Question Id : 753229267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
Yesterday I had a/an chinese food at my favourite restaurant.

Options :
1. ¥ authentic

2. * classical
3. #* amateur
4. % dubious

Question Number : 66 Question Id : 753229268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

The girl or her friends daily in the evening.
Options :

1. ¥ dance

2. % dances

3. # danced

4. # dancing

Question Number : 66 Question Id : 753229268 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

The girl or her friends daily in the evening.
Options :

1. ¥ dance

2. % dances

3. # danced

4. # dancing

Question Number : 67 Question Id : 753229269 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rearrange the parts of the sentence in correct order.

The film Titanic

P: of the Ocean, that was supposedly lost when the ship sank
Q: begins with the robotic exploration

R: of the Titanic’s wreckage by treasure hunters who hope to
S: locate a fabled massive blue diamond, known as the Heart
Options :

1. ¥ SQPR

2. % RPSQ

3. ¥ QRSP

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option



4. = QRPS

Question Number : 67 Question Id : 753229269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rearrange the parts of the sentence in correct order.

The film Titanic

P: of the Ocean, that was supposedly lost when the ship sank
Q: begins with the robotic exploration

R: of the Titanic’s wreckage by treasure hunters who hope to
S: locate a fabled massive blue diamond, known as the Heart

Options :

1. ¥ SQPR
2. % RPSQ
3. ¥ QRSP
4. * QRPS

Question Number : 68 Question Id : 753229270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rearrange the parts of the sentence in the correct order.
P: unlike Greek city-states, which excluded

Q: conquered peoples into its social and political system
R: participation, Rome from its beginning incorporated
S: foreigners and subjected peoples from political

Options :

1. * PQSR
2. % RQPS
3. ®* SQPR
4. ¥ PSRQ

Question Number : 68 Question Id : 753229270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Rearrange the parts of the sentence in the correct order.
P: unlike Greek city-states, which excluded

Q: conquered peoples into its social and political system
R: participation, Rome from its beginning incorporated
S: foreigners and subjected peoples from political

Options :

1. # PQSR
2. % RQPS
3. % SQPR
4. ¥ PSRQ

Question Number : 69 Question Id : 753229271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that means the same as the given word.
Think

Options :

1. ¥ Contemplate
2. # Study

3. ®# Learn

4. % Forget

Question Number : 69 Question Id : 753229271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that means the same as the given word.
Think

Options :

1. ¥ Contemplate
2. # Study

3. ®# Learn

4. % Forget



Question Number : 70 Question Id : 753229272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that is opposite in meaning to the given word.
Preserve

Options :

1. ¥ Neglect

2. ®% Conserve

3. # Assuage

4. % Unadoptable

Question Number : 70 Question Id : 753229272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that is opposite in meaning to the given word.
Preserve

Options :

1. ¥ Neglect

2. ®% Conserve

3. # Assuage

4. % Unadoptable

Question Number : 71 Question Id : 753229273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. * Eminant

2. % Emenent

3. ¥ Emmenent

4. ¥ Eminent



Question Number : 71 Question Id : 753229273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. #* Eminant

2. % Emenent

3. * Emmenent

4. ¥ Eminent

Question Number : 72 Question Id : 753229274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. * Cuolum

2. % Colom

3. % Column

4. % Colunm

Question Number : 72 Question Id : 753229274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. * Cuolum

2. % Colom

3. % Column

4. % Colunm

Question Number : 73 Question Id : 753229275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
Within an ace of

Options :

1. ¥ A card trick

2. % To reveal your plan

3. ¥ Escaping by a narrow margin

4. # The most valuable weapon

Question Number : 73 Question Id : 753229275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
Within an ace of

Options :

1. % A card trick

2. % To reveal your plan

3. % Escaping by a narrow margin

4. % The most valuable weapon

Question Number : 74 Question Id : 753229276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
Blue devils

Options :

1. ¥ Rash decisions

2. % An innocent person

3. # In quest of something trivial

4. ¥ Depressed feelings

Question Number : 74 Question Id : 753229276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
Blue devils

Options :

1. * Rash decisions

2. #% An innocent person

3. % In quest of something trivial

4. ¥ Depressed feelings

Question Number : 75 Question Id : 753229277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
Something kept as a reminder of the place one has visited

Options :

1. ¥ Souvenir
2. # Landmark
3. # Cenotaph

4. % Memorandum

Question Number : 75 Question Id : 753229277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
Something kept as a reminder of the place one has visited

Options :

1. ¥ Souvenir

2. # Landmark

3. % Cenotaph

4. ¥ Memorandum

Sub-Section Number : 2
Sub-Section Id : 75322918



Question Shuffling Allowed : Yes

Question Id : 753229278 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (76 to 80)

Read the following information carefully and answer the given questions.

Water is scarce for many creatures in the Sonoran Desert in Arizona, so when it does rain (or snow or sleet), some resident rattlesnakes seize the
moment. They slither out of their dens, flatten themselves in a coil shape, and suck the water that collects on their backs into their mouths.

Now a team of engineers and biologists has discovered special properties of the reptiles’ scales that help the snakes become living rain buckets.
They found that a water droplet hitting the back of a western diamondback rattlesnake breaks into smaller droplets that often stay pinned to the
snake’s skin. In contrast, most water hitting the scales of two desert-dwelling snakes that haven’t been observed harvesting rainwater -- the desert
king snake and the Sonoran gopher snake -- simply slides off.

When the researchers looked at the snakes’ skin with a powerful microscope, they saw that the rattlers’ scales sported a network of tiny channels,
each about one-tenth the width of a red blood cell across. Additional tests showed how the intricate texture helps the scales capture water.
Scientists suspect the rattlesnakes evolved to harvest precipitation with their bodies because the snakes are relatively slow-moving and rely on
ambush to catch their meals. Having to travel far to get water might reveal the snakes to their prey (or to predators such as hawks). Instead, the
snakes simply gather a drink directly from the sky.

Sub questions

Question Number : 76 Question Id : 753229279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the primary purpose of the following passage?

Options :

1. ¥ To explain how desert rattlesnakes harvest rainwater

2. # To understand the dermatology of desert-dwelling rattlesnakes

3. % To explain the struggle of desert rattlesnakes in the winter season

4. # To understand the importance of rain water harvesting

Question Number : 77 Question Id : 753229280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to the given passage, what helps a rattlesnake to store rain water?
Options :

1. # Their slow movement in the desert.



2. ¥ Rattlesnakes’ skin having indefinite scales.
3. % Coil shape during precipitation.

4. ® Their urge to drink more water.

Question Number : 78 Question Id : 753229281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why author has compared the desert-dwelling snakes to ‘rain buckets’?
Options :

1. ¥ Because they harvest rainwater with the help of their skin.

2. # Because they can store a good amount of water under their.

3. # The desert-dwelling snakes are commonly called rain buckets.

4. # Because the rattlesnakes move slowly while drinking water.

Question Number : 79 Question Id : 753229282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following words is synonym of ‘slither’?
Options :

1. ¥ Recede

2. % Ascend

3. % Retrograde

4. ¥ Grovel

Question Number : 80 Question Id : 753229283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What style of writing is used in the following passage?
Options :

1. ¢ Descriptive

2. ¥ Argumentative

3. # Persuasive

4. ® Narrative



Question Id : 753229278 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (76 to 80)

Read the following information carefully and answer the given questions.

Water is scarce for many creatures in the Sonoran Desert in Arizona, so when it does rain (or snow or sleet), some resident rattlesnakes seize the
moment. They slither out of their dens, flatten themselves in a coil shape, and suck the water that collects on their backs into their mouths.

Now a team of engineers and biologists has discovered special properties of the reptiles’ scales that help the snakes become living rain buckets.
They found that a water droplet hitting the back of a western diamondback rattlesnake breaks into smaller droplets that often stay pinned to the
snake’s skin. In contrast, most water hitting the scales of two desert-dwelling snakes that haven’t been observed harvesting rainwater -- the desert
king snake and the Sonoran gopher snake -- simply slides off.

When the researchers looked at the snakes’ skin with a powerful microscope, they saw that the rattlers’ scales sported a network of tiny channels,
each about one-tenth the width of a red blood cell across. Additional tests showed how the intricate texture helps the scales capture water.
Scientists suspect the rattlesnakes evolved to harvest precipitation with their bodies because the snakes are relatively slow-moving and rely on
ambush to catch their meals. Having to travel far to get water might reveal the snakes to their prey (or to predators such as hawks). Instead, the
snakes simply gather a drink directly from the sky.

Sub questions

Question Number : 76 Question Id : 753229279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the primary purpose of the following passage?

Options :

1. ¥ To explain how desert rattlesnakes harvest rainwater

2. # To understand the dermatology of desert-dwelling rattlesnakes

3. % To explain the struggle of desert rattlesnakes in the winter season

4. # To understand the importance of rain water harvesting

Question Number : 77 Question Id : 753229280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the given passage, what helps a rattlesnake to store rain water?
Options :

1. # Their slow movement in the desert.

2. ¥ Rattlesnakes’ skin having indefinite scales.



3. % Coil shape during precipitation.

4. ® Their urge to drink more water.

Question Number : 78 Question Id : 753229281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why author has compared the desert-dwelling snakes to ‘rain buckets’?
Options :

1. ¥ Because they harvest rainwater with the help of their skin.

2. # Because they can store a good amount of water under their.

3. # The desert-dwelling snakes are commonly called rain buckets.

4. # Because the rattlesnakes move slowly while drinking water.

Question Number : 79 Question Id : 753229282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following words is synonym of ‘slither’?
Options :

1. ¥ Recede

2. % Ascend

3. % Retrograde

4. ¥ Grovel

Question Number : 80 Question Id : 753229283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What style of writing is used in the following passage?
Options :

1. ¢ Descriptive

2. ¥ Argumentative

3. # Persuasive

4. ® Narrative
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Question Number : 81 Question Id : 753229284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.* Y
2.9

3. % Ul
4. % 3T

Question Number : 81 Question Id : 753229284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faT TN Yeg T IUIA J1d B
refie

Options :
1. * 9
2.9

3. % 4l
4. % I

Question Number : 82 Question Id : 753229285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FafaRad @ I $1H-91 s AfGaarad Tl 67
Options :

1. % gdd

2. T

3. % HIY

4. % GHI

Question Number : 82 Question Id : 753229285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRufeRed B 9 S1-91 e Afkaarasd I3 22




Options :
1. % gdd
2. ¥ T
3. % HI¥Y
4. % I

Question Number : 83 Question Id : 753229286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

QU T 9199 H e fohar favivur I1d eifora|
H g8l -t ST g

Options :

1. % ggl

2. %

3. ¢ Hl-H

4. % ST

Question Number : 83 Question Id : 753229286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3U 7T a1 | Setdraes fobar faRIvor Jrd Sifor|
¥ g - S g |

Options :

1. % agl

2. % 1

3. ¢ Ul

4, % SIIdl

Question Number : 84 Question Id : 753229287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



T U Xreg; &1 vafaar 2 J1d ST
STH%

Options :

1. % faerefor

2. % =S

3. % 3[qg

4.« Y

Question Number : 84 Question Id : 753229287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
few 7T reg &1 vafaaT =g 1 B
SHg

Options :

1. ® faceor

2. % WS

3. % 3qd

4. % Y

Question Number : 85 Question Id : 753229288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T 7T g T DT g s T T BT |
3G : IR

Options :

1.« ddT g 3T . YTYRTI
2. % YR . JTHY
3. % UMY : dd1 g3l
4. % URY : YA

Question Number : 85 Question Id : 753229288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

f3T 7T g FH DT g s T T BT |
3G : IR

Options :

1.« ddT g 3T . YTYRTI
2. % YR . JTHY
3. % HHY : dd1 g3l
4. % URY : YA

Question Number : 86 Question Id : 753229289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFaferfad argai=r o fore IfId Wsg &1 T HifoT|
S g1 & ARG A 8l

Options :

1. ¢ 3d<Ag
2. % Qi

3. % 3
4. % AT

Question Number : 86 Question Id : 753229289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad areair & foru SRId Wrsg &1 994 iU
Sl T o ARG A g

Options :

1. ¢ 3d<AIg
2. % Of1%

3. % <
4, % 3fHcA™




Question Number : 87 Question Id : 753229290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fw 7T 2re 7 TafaETE T 91 SO
DG

Options :

1. % qd

2. % dR

3. %

4. ¥ Qg

Question Number : 87 Question Id : 753229290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fw 7T 2re 7 qafETE T 91 S
|

Options :

1. * Jd

2. % dR

3. %

4. Qg

Question Number : 88 Question Id : 753229291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f&Q 71T a1 &1 Uef 1 BT
g TR g1

Options :
1. % guf gg
2. % 37Ul gg



3. « fTgdH® g
4. % R Uy

Question Number : 88 Question Id : 753229291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fa 7T aTeR T ges J1d BT
A TR B

Options :

1. ® guf ggf

2. % 3quf gg

3. ¢ [RYgam® yg

4. % g Uy

Question Number : 89 Question Id : 753229292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faferiRad areil & 9 Tgad a1e J1d BT
Options :

1. % 3§ T MY Fem ad ex I} &1d §dra |
2. % MUY e WR e IRT 91d JdTS |

3. ¢ T 3O G SR &% IR &1d Fars|

4. % T 3O fHeT TR ) R &1 a1 Sars|

Question Number : 89 Question Id : 753229292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faferRad areil B ¥ g o d1e J1d B
Options :

1. % S H MY T a9 o= IR a1d Fadr |
2. % 3N e WR e IRT d1d JdTS |




3. ¢ T 3O AT 3R &R IRT &1d Sar |
4. % T 3O fHeT TR o) IR &1 Tt Sars|

Question Number : 90 Question Id : 753229293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faferiRad areil B 9§ Tgod d1e J1d BT
Options :

1. % TeTd 9T i 81 89 SR Y|

2. % S § URIEMTE JHTW g% 99 81 84 SRI Y|
3. % T&TE U B1H R §H STRT Y|

4. ¢ TS THTE g8 3R gH 3TRT |

Question Number : 90 Question Id : 753229293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafeRad arel & @ Tgad a1 Hifee|
Options :

1. % TeTE 9T Bid 81 89 SR Y|

2. % SN g1 TRI&TE JHTW g5 a3 §f 89 3TRT Y|
3. % e TS 819 R §H PRI |

4. ¢ T&TE JHT B8 3R §H 3TRI Y|

Question Number : 91 Question Id : 753229294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f&T T Tree; T YfiTT Teg T FITT
YT

Options :
1. % Ydr
2.¥ Yd



3. % Hgdl
4. % 47t

Question Number : 91 Question Id : 753229294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fQ 71U Trsg 7 g Wsg T BT
YT

Options :
1. % Hdl
2.% Hd
3. % yqdt
4. % rdt

Question Number : 92 Question Id : 753229295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fou ¢ It | Ty forme g &1 SUaiT fhan S S9! ugad Sifvg|
I 30U HTd Dl §9M & U 3 U bt IR d Id Awh gu|

Options :
1. ®

2.9
3.% .

4. % _

Question Number : 92 Question Id : 753229295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fou U It | Ty forme g &1 SUaiT fhan S S9! uga™ Sifv|
I U AT B s b T 3 I fhT iR 3 9a Fehd gu|

Options :
1. #

b



2.9
3.% .

4. %

Question Number : 93 Question Id : 753229296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu 7T are © for form farg 1 IuaiT foran Ser S9! ugaH Sifo|
MY A I BT SHUAT BT DR |

Options :

LV,

2. % _9

3.% (),

4.%50)

Question Number : 93 Question Id : 753229296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu e a1 H g formw forg &1 IuaiT fopan Saen S9! Ugda ifoid|
M = IS Y BT 3UAT HTH B |

Options :

LV,

2. % 9

3.% (),

4.%:0)

Question Number : 94 Question Id : 753229297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & fou U aR fAwedl 5 9, 39 fawed &1 999 o S faU 70 GgTak & 3l &1 49§ T ¥ ad Rl 5|
TR o §1

Options :




1. ® f&Hd UdeT
2. % faufxy (M

3. ¢ TGP g
4. % RIS g

Question Number : 94 Question Id : 753229297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoiad we , fou 0 oR fawedl & 9, 39 fadmed &1 997 & S fou U geTark & 31 ol Ia9% U I oJad HRdl ¢ |
SR § §1

Options :

1. % fhwId gete
2. % fqufa e
3. ¥ TGAYAd fegeH]

4. % TRIOI BT

Question Number : 95 Question Id : 753229298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ve o, fou 70 IR fawedl & ¥, 39 fadmen &1 997 &3 1 fou T8 GeTar & 31 ol Ya9% U § oJad HRdl g |
STHATY &1 aTd Il

Options :

1. % JR BT

2. % Sgd UG DHTH B dTel giHl

3.V 9gd G B

4. % fodpd HH - arell

Question Number : 95 Question Id : 753229298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ue ), fau U IR faweat & ¥, 39 fadmen &1 7997 & S fou U geTak & 31 ol Ia9% U § oJad Rl ¢ |




SECIREICINICNEI

Options :

1. % IR

2. % Sgd SUIGI DHTH B dTel gl
3. ¥ 9gd g& BT

4. % fodipd S - drell

Sub-Section Number : 2
Sub-Section Id : 75322920
Question Shuffling Allowed : Yes

Question Id : 753229299 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (96 to 100)
TS T o1 T | IR O STUR WR Ui Uy T 7Y € | I &1 e9MYde U aul Udidh Uy H aR fawedl § ¥ 9el fawed g |
YRA & FYHEAT F1 A Al St = TeTem Tieh Sff i S 2 fagaR 2014 1 W HRA U 1 L3 DI, Wad YR I Dl
YR =M 3R sl A off 681 SI1dT § 1R IR &1 I8 Ugd TR ¢ 198 S SHRIGING =0 F 1999 ¥ I 361 ¢ Ugd
ST ITH YTHI0T Tqwsd] ST T, b1 3fiiet 2012 1 UUHA H-THIg Rig 3 39 A1 § §3a1d $d gU 39 ol b1 914 M
YR A 39 T 3R a1a # WRPR A 59h1 Y139 HRd U SHbT T4 YUi IWadl I R faar o1 HeTe i ot 3 HRd &1 U
e 3R a3 S M &1 FUAT /T AT 3U U & g T 71ieht St 3 g1 o1 foh Tawzar Wazar 4 o Sre1 sRest § Hife Tssar gt
WY 3R YifAYu] Slia o1 Teh TR 4T § 1kawd HRA SR Bl o3I IHBR A o= H Wwddl & Ul THTeeddl aH & o)l #6181 38
T AP TR BT I 8 S D1 G SR Tid] BT GbTs o oY SR b1 71 7] 39 ST H <irarerdl o1 fafor, greftor &5 § wawsdn
HRIHHI BT TeTal &1, TRl d TSP| Bl ThTs, o= & aTal gid Bl dea-l e M 81 T8 TS Afad & forg T SR § 3R
§§wﬁww%mm%$mswn—cﬂa:mh$ﬁwﬂaﬁﬁ Al B| 39 SIAH B Gthel S & oI 9y TR R vl = ugd
|

Sub questions

Question Number : 96 Question Id : 753229300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
2 TG D1 YH3M1d Hd g3 A
Options :

1. ¥ 2 3{dgslR 2014

2. % | 3SR 2011



3. % 2 3T 2019
4. % 1 30 1980

Question Number : 97 Question Id : 753229301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g YA SfHIRE U A Ha 3 Id 6T 82
Options :

1. % 2014

2.9 1999

3. % 2012

4. % 2000

Question Number : 98 Question Id : 753229302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Herl Ugdl 9 NI I fobd =18 I ST S 12
Options :

1. « YTHT Sesdl T

2. % fHd YRA M=

3. % YR o= it

4. % ST SHHAH

Question Number : 99 Question Id : 753229303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U UG D1 FH3Td fordas Ul SIFRE bl - & fog bt &
Options :

1. % §9ardt o

2. % HUHH Bl A

3. % wrifaqul

4. & Id=3dl



Question Number : 100 Question Id : 753229304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U TR T IuGeR] Liitieh Rl BT
Options :

1. % gUq & o

2. % YR Ugd

3. ¢ W HRA I

4. % PHRHH! DI IETaT Sl

Question Id : 753229299 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (96 to 100)
TS TR e 71 8 | TTRIiRT & SR WR Gid U AU TN § | TTRIi=T &1 SA-ydes U adT Udid Uy o IR [dsed! O ¥ 9@ fadwed |
YRA & GUHEAT F1 A Al St = TeTedm Tieh Sff bl S 2 3fagaR 2014 B W HRA U &1 Y31 DI, Wad YR I Dl
R R 3R Ta=zar i off HT 9Id1 8 14Rd WHR P U8 Ugd UG § 198 A sifieie 0§ 1999 T I 381 § Ugd
ST TH YTHIT w5l ST T, i1 3fiiet 2012 B UUHA H-1HIg Rig 3 39 Ao § 93d1d $d gU 39 ol &1 914 FHd
YR ST 7 a1 3R 916 & TRDR A 3HDT Y134 Hd §U ST H YUi [qw5dll ST B a1 | 7gre M it 3 HRd 61 Th
e SR T <=1 9 &1 QUAT ST UT| 39 U & T § 71ieft Sft 3 Fet o1 o Tamadn wadsar ¥ Ht e Sl § wifes Wesar gt
WY 3R YAy Slia o1 Teh SITRS 4T § 1Xawd HRA ST Bl Yo IHR A o= H Wwsdl & Ul SHTeeddl aH & o)l #1381 I8
Teh 1T TR B S § Sl b1 XGRT 3R TM1dl b1 WWTS & 1w SR b 7 8] 59 Sifi & <irarerdl &1 fHaior, arior &5 § wsd
HTIHH! B! Tgral o1, Tierd! d TSH! B! Uhls, G/ & AT Gid B gea-T 311 M & | I8 TS fad & It T fSTHieR! § iR
§§mﬁww%mm$mam—cﬂnwﬁ$ﬁuﬁaﬁﬁ TSI & 3T A B! Thd g9 o forg fay TR IR il 3 ugd
|

Sub questions

Question Number : 96 Question Id : 753229300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ST I D1 YH3MTd Hd gs A
Options :

1. ¥ 2 HdgdX 2014




2. % | 3SR 2011

3. % 2 3T 2019
4. % 1 30 1980

Question Number : 97 Question Id : 753229301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g YA SfHIRE U A Ha 3 Id 6T 82
Options :

1. % 2014

2.9 1999

3. % 2012

4. % 2000

Question Number : 98 Question Id : 753229302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a9 Ugd 39 A &1 fobg 718 o ST SIar 412
Options :

1. « YTHT Sesdl T

2. % fHd YRA M=

3. % YR o= it

4. % ST SHHAH

Question Number : 99 Question Id : 753229303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U UG D1 FH3Td fordas Ul SIFRE bl - & fog ot &
Options :

1. % §9ardt o

2. % HUHH Bl A

3. % wrifaqul



4. & Id=Sdl

Question Number : 100 Question Id : 753229304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SUad TR T IUgad MSH FT G

Options :

1. % o9 & dau

2. % YR Ugd

3. ¢ W YR M

4. % DHUHH! DI TGIaT ST
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Group Id : 75322917
Group Maximum Duration : 0
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Break time : 0
Group Marks : 20
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Section Id : 75322917
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Section type : Online
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Number of Questions : 20
Number of Questions to be attempted : 20



Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 75322921
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 753229305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following contributed to the growth of industrial revolution?
Options :

1. % Religion

2. % Agricultural expansion

3. ® Monarchy

4, % Renaissance

Question Number : 101 Question Id : 753229305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrofafed 3 3 foram Sienfies wifd 31 afS & arreH fam
Options :

1. % o

2. ¢ BN TR

3. % 97

4. % TSRO

Question Number : 102 Question Id : 753229306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The peasant movement called ‘Bijolia Movement’ was associated with which state of India?
Options :

1. ¥ Rajasthan



2. # Uttar Pradesh
3. % Gujarat
4. ¥ Madhya Pradesh

Question Number : 102 Question Id : 753229306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ferenferar sfigiad A fhu i YRd & [l o9 W S[ST §3HT U1?
Options :

1. ¥ SR

2. % JRYGY

3. % ToRId

4. % ALY

Question Number : 103 Question Id : 753229307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following pairs of “Movement — Year” is correct?
I. Champaran Satyagraha — 1925

II. Moplah Rebellion — 1921

I11. Tebhaga Movement — 1930

Options :

1. ¥ Only II
2. % Tand II
3. % Il and III
4. % Jand III

Question Number : 103 Question Id : 753229307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“3ffara — g8 BT FEfafed ¥ I S I 7 91 22

[. JORU ARIE — 1925




11, Higa fagig — 1921
T, THTT 3MiGIa — 1930

Options :

1. ¥ Had I
2. % 1441
3. % 11 dUTIII
4, % 1dYTIII

Question Number : 104 Question Id : 753229308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to some historians who was considered as the heir to the French Revolution?
Options :

1. # Louis XVI

2. # Louis XV

3. % Louis XIV

4. ¥ Napoleon Bonaparte

Question Number : 104 Question Id : 753229308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
$ SIAGNHRI & TR WA hifd BT STRIYBRY fard TH1 77 U1
Options :

1. ® g XVI
2. ® XV
3. % T8 XIV
4. « Qe SIS

Question Number : 105 Question Id : 753229309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



From which city did Louis XVI decided to flee during the French Revolution?
Options :

1. % Paris

2. % Luxembourg

3. % Versailles

4. ¥ Lombardy

Question Number : 105 Question Id : 753229309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

THIRIRR Shifd & SR s XVI A 5 WeR I U &1 Aty ferar um
Options :

1. ¢ Ry

2. % agHE

3. % Ui

4. % QrarSt

Question Number : 106 Question Id : 753229310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What was the name of the Archbishop of Toulouse?
Options :

1. ¥ Charles de Brienne

2. # Charles Calonne

3. % Jacques Necker

4. # Anne Robert Turgot

Question Number : 106 Question Id : 753229310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST & ST [aIR1Y T T ATH T2

Options :



1. ¢ 9T 3t foed
2. % I pad
3. % Shyg AH
4. ® TS T

Question Number : 107 Question Id : 753229311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year, Louis XVI ascended to the throne of France?
Options :

1. ® 1776

2. % 1775

3.¥ 1774

4. % 1777

Question Number : 107 Question Id : 753229311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frg ad &, g8 XVI i &I ASTE] R a6 A?
Options :

1. ® 1776

2. % 1775

3.¥ 1774

4. % 1777

Question Number : 108 Question Id : 753229312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the context of French revolution, which is the correct order of Controller of Finances in order of their succession?
I. Anne Robert Turgot
II. Jacques Necker



II1. Charles de Brienne
IV. Charles Calonne

Options :

1. # I-II-II-IV
2. % [-II-IV-1I1
3. % II-II-IV-1
4. ® II-I-1I-1V

Question Number : 108 Question Id : 753229312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR wifd & e H, fod & ! &1 39 STRINGR & HH & el HH 1 62
I O IS

1. HY AP

111 I o foeA

V. I Had

Options :

1. # -II-ITI-IV
2. % [-II-TV-III
3. % II-III-TV-1
4, % II-I-II-IV

Question Number : 109 Question Id : 753229313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following Rifle’s cartridges caused an uproar among sepoys due to the rumour of it being greased with cow and pig fat?
Options :

1. # Brown Bes Musket

2. ¥ Enfield Rifle

3. % Blunderbuss

4. # Matchlocks



Question Number : 109 Question Id : 753229313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafied & 9 ford ISwa & HRAT! BT T 3R YR B Idl I BT g1H B haTg & HRUI RNl & sid aaae 74 15 2
Options :

1. % §139 99 AhC

2. ¥ TABIE ISHhd

3. % sevad

4. % DIy

Question Number : 110 Question Id : 753229314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

led to a treaty between Indian princely states and British East India Company in which the states had to take any decision with the
consultation of the British and a Sepoy army was given for the help of the ruler.

Options :
1. ¥ Subsidiary Alliance
2. # Doctrine of Lapse

3. # Paramountcy Policy

4. % Economic Policy

Question Number : 110 Question Id : 753229314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
7 YRaia feamdl SR fofe S Sfean du=it & ofa T i &1 g fasan ford It &) dis ot Fofg oidier & tRm=f & o
3R S B1 Hag & o1y T Ryurg! T i 715 2R
Options :
1. ¢ gD TSIYH
2. % faeg Hifd
3. % Hafear Hifd
4. % 3t




Question Number : 111 Question Id : 753229315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following old political associations was not abandoned during the time of the 1880s when political organisations emerged?
Options :

1. # Zamindari Association

2. ¥ Poona Sarvajanik Sabha

3. ¥ Deccan Association

4. % Indian National Union

Question Number : 111 Question Id : 753229315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1880 & GRS & GRIF 918 IS TS BT 3ad g3l T, Fufaiad & ¥ & It QRIT Ioiae SRA1sf ! 18! el 1T 412
Options :

1. ® STHIQRY IR

2. « AT Ao THT

3. % S IR

4. % YRAW AP I

Question Number : 112 Question Id : 753229316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Where was the first session of the Indian National Congress supposed to be held?
Options :

1. ¥ Poona

2. # Calcutta

3. % Madras

4. # Delhi

Question Number : 112 Question Id : 753229316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

YRGTG P HIUY BT UYH YR Bl Sraford faar ST o
Options :

1. ¥ YAl

2. % Dolpdl

3. % Hgl™g

4. # ool

Question Number : 113 Question Id : 753229317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Rowlatt Act was passed in

Options :

1. * 1910

2. % 1914

3.4 1919

4. % 1923

Question Number : 113 Question Id : 753229317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RMcic sifefas  griRd o T 7|
Options :

1. ® 1910

2. % 1914

3.4 1919

4. % 1923

Question Number : 114 Question Id : 753229318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who was the founder of the Indian National Congress?



I. Jawahar Lal Nehru
II. A.O. Hume

Options :

1. % Only I

2.9 Only II

3. % Both I andII
4. # Neither I nor II

Question Number : 114 Question Id : 753229318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YR AP B & YRITD DI A2
1. ST W1l 5%

1. T30 ggH

Options :

1. % Had 1
2. ¥ HAd Il
3. % [QUT ISl
4. % 1B 1

Question Number : 115 Question Id : 753229319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Khilafat movement in India arose out of the sentiments of the Indian Muslims to protect the institution of the Khalifa in
Options :

1. # Pakistan

2. % Afghanistan

3. ¥ Turkey

4. ® Ttaly

Question Number : 115 Question Id : 753229319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

URd § RIdTwd sfigia T Glh] B TRYT P & & [T YR T DT UGS I IS §3HT AT
Options :

1. % Urfebed™

2. % SHITRAH

3. ¥ bl

4. % gql

Question Number : 116 Question Id : 753229320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Russian revolution is also known as
Options :

1. # Nubian revolution

2. ¥ Bolshevik revolution

3. % Compatriots revolution

4. % Jonian revolution

Question Number : 116 Question Id : 753229320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FhHRB  HEgd R
Options :

1. % gfeg wifd

2. ¢ SIRIdD hifd

3. % gHR wifd

4. % ST pifd

Question Number : 117 Question Id : 753229321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The Russian revolutionary movement sought to overthrow which of the following system of government?
Options :

1. # Theocracy

2. # Aristocracy

3. # Democracy

4. ¥ Autocracy

Question Number : 117 Question Id : 753229321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I BIfdHRY SiGIe A TRbR o FAafeiRad ¥ 8 fog Toummelt o1 GHI 63 B Hiv Bt &P
Options :

1. % Y3rpat

2. % SffNSITaa

3. % qidad

4. ¥ Thdd

Question Number : 118 Question Id : 753229322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement describes Zemstvos?
I. Russian worker organisation
II. Locally elected councils

Options :

l. % Only I

2. ¢ Only II

3. # BothIand II
4. # Neither I nor II

Question Number : 118 Question Id : 753229322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fafaied o § & 91 Sy SRed &1 aui- &l 82
1. =4 Brfedl e

1L R =0 ¥ fRaifad e
Options :

1. % $Had 1

2. ¥ HAd Il

3. % [ QYT gHl

4. % I I

Question Number : 119 Question Id : 753229323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In 1917 Russian revolution, the newspaper ‘Iskra’ was controlled by
Options :

1. % Trudoviks

2. # Burnatskom

3. % Folkspartei

4. ¥ Mensheviks

Question Number : 119 Question Id : 753229323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1917 @1 =4I Hifd A, THRR U ‘FKhT” B SIRT Rt foar ar o)
Options :

1. % Telided
2. % §lcpH
3. % Tleqqurc!

4. ¢ HRifd®

Question Number : 120 Question Id : 753229324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is correct?
I. There were two kinds of mid-nineteenth Russian intelligentsia — Westernizer and Slavophile.
I1. Slavophiles were in favour of western values.

Options :

1. % Only I

2. % Only II

3. % Both I andII
4. ¥ Neither I nor II

Question Number : 120 Question Id : 753229324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafaRed & I &1 1 Sy 981 82
I & UHR & A9 IA4dl &4 gfgoidt 3 — deioR 3R Tmaiftha |
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Options :

1. ¥ $Had |

2. % Had Il

3. % [ UGl
4. % I I
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Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 753229325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to whom, communist society will be in the last stage of man's history?
Options :

1. * Niccolo Machiavelli

2. % John Locke

3. ®* John Stuart Mill

4. ¥ Karl Marx

Question Number : 121 Question Id : 753229325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fohd & SR, R TS, S1eHt & fagr & Sifay wror § grm
Options :

1. % Feprel Afdaraeh




2. % S Al
3. % S Xgare fia
4. ¢ BT AIGH

Question Number : 122 Question Id : 753229326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Class struggle is a feature of which philosophy?
I. Capitalism
II. Marxism

Options :

1. % Only I

2.% Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 122 Question Id : 753229326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ot e fbg g2 1 faden g2

1. Guitdrg
11. HIeaTe

Options :

1. % FHadl

2. ¥ Had Il

3. % [QUT I gl
4. % 1B

Question Number : 123 Question Id : 753229327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to Marxism, which class will overthrew the capitalism system?



Options :

1. # White Collar class
2. ¥ Proletariat class
3. % Elite Class

4. # Royal class

Question Number : 123 Question Id : 753229327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HTeRiaTe & AR, I A1 97 Goiare YUlTel &l THI Hm?
Options :

1. % ghg PleR aif

2. qdgRI i

3. % Hae afl

4. % QU@ T

Question Number : 124 Question Id : 753229328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Nazism emerged in which country?
Options :

1. % Belgium

2. % Slovakia

3. ¥ Germany

4. ® Finland

Question Number : 124 Question Id : 753229328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

qreliaTg fbd 4= H SURT U

Options :



1. % gfcorgH
2. % Trardar
3. ST
4. % fdls

Question Number : 125 Question Id : 753229329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the context of the Expansion Policy of Mussolini, which of the following statements is correct?
I. He annexed Albania in 1926.
II. He conquered Abyssinia in 1936.

Options :

1. % Only I

2.9 Only II

3. % Both I andII
4. ¥ Neither I nor II

Question Number : 125 Question Id : 753229329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % $Had 1

2. ¥ HAd Il

3. % [ UGl
4. % I I

Question Number : 126 Question Id : 753229330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Archduke Francis Ferdinand, the successor of the Austria-Hungary Empire, was assassinated by
Options :

1. # Albanian group

2. % Bosnian group

3. % Bulgarian group

4. % Romanian group

Question Number : 126 Question Id : 753229330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SRR AU & STIRIVDBRT HThSgd Wi Biors bl ERERIESEARIERIT
Options :

1. % 3fedHaTs THE

2. ¢ SRS TE

3. % JAINAE T8

4. % IS g

Question Number : 127 Question Id : 753229331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year, the United States of America entered in World War 11?7
Options :

1. *® 1939

2. ¥ 1941

3. % 1942

4. % 1943

Question Number : 127 Question Id : 753229331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ford oy o , Tgad Isa SR A fay gg 11 1 vawy fasar am

Options :



1. % 1939
2. ¥ 1941
3. % 1942
4. % 1943

Question Number : 128 Question Id : 753229332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following were the four big victorious powers that dominated the Paris Peace Conference, 1919?
Options :

1. # Germany, Russia, France, Japan

2. # United States of America, France, Italy and Japan

3. # France, Italy, Russia and Germany

4. ¥ Britain, France, Italy and the United States of America

Question Number : 128 Question Id : 753229332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad 7 9 oF O IR 93! fao) wifeaar off fSmeT o wifa I™iem, 1919 | gager U1
Options :

1. % JH, =9, Wi, S

2. % e g ARSI, 1Y, Zeelt 3R ST

3. % Y, gealt, F 3R FHA

4. ¢ T3¢9, Wi, el 3R gad T SAR®T

Question Number : 129 Question Id : 753229333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following plans reduced the World War I debt on Germany?
Options :

1. ¥ Dawes Plan and Young Plan



2. # John Plan and Maynard Plan
3. % Young Plan and Maynard Plan
4. # John Plan and Young Plan

Question Number : 129 Question Id : 753229333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferiad o 9 fooet ! = S &1 % I 1 T B0 HH & a1 Um
Options :

1. ¢ Sicd W 3R I @M

2. % S WM 3R BT W

3. % I W@ 3R BATS WF

4. % S W SR W &

Question Number : 130 Question Id : 753229334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the context of Rome-Berlin-Tokyo Axis, which of the following statements is NOT correct?
I. Rome-Berlin-Tokyo axis believed in fascism ideology.
II. They were against the ideology of war and believed in establishing world peace.

Options :

1. % Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 130 Question Id : 753229334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % FHadl

2. ¥ Had Il

3. % [ UGl
4. % qGIIATRIII

Question Number : 131 Question Id : 753229335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Conard discontinuity exists between which zones of the earth?
Options :

1. ¥ Upper and lower crust

2. % Lower crust and upper mantle

3. # Lower mantle and outer core

4. % Quter and inner core

Question Number : 131 Question Id : 753229335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HHTS ST Yedl & b1 &3 & sfta JufRyd &2
Options :

1. ¢ SR 3R Frarett yudet

2. % Frch yudd ok okt Few

3. % fgan Hed SR IR BIS

4. % qE3 R Hiad re

Question Number : 132 Question Id : 753229336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Nile delta is an example of which type of delta?
Options :



1. # Abandoned delta
2. ¥ Arcuate delta

3. % Estuarine delta
4. % Bird-foot delta

Question Number : 132 Question Id : 753229336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ia Seel i UBR & ST BT SGTeR0T 82
Options :

1. % IRIFd (TESS) Seel

2. ¢ 3HUC Seel

3. % TSR Seel

4. % §8-5C STl

Question Number : 133 Question Id : 753229337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which volcano is called as the ‘Light House of the Mediterranean’?
Options :

1. ¥ Stromboli

2. # Pinatubo

3. % Etna

4. #% Visuvious

Question Number : 133 Question Id : 753229337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
o<y SATANIE! & “YAENNR &1 A3 8139’ Hal ofldl 62

Options :

1. ¢ el




2. % fUATCa

3. % WcHl
4. * RigRTs

Question Number : 134 Question Id : 753229338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Planetesimal Hypothesis about the origin of earth was given by
I. Forest Ray Moulton

II. T.C. Chamberlin

III. Immanuel Kant

Options :
1.¥ TandII
2. % Il and III
3. % Only III
4. % Jand III

Question Number : 134 Question Id : 753229338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.« 1dYUT Il
2. % I dYTIIn

3. % Had I11
4. % 1 QUTIII

Question Number : 135 Question Id : 753229339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is correct regarding sedimentary rocks?
I. These are formed from the plants and animals remains.

II. These rocks contain several layers of strata.

III. Limestone is an example of a sedimentary rock.

Options :

1. # Iand III

2. % Only I
3.9 1,11 and III
4. % Only II

Question Number : 135 Question Id : 753229339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % [dUT I

2. % Had |

3.9 1 I dYUTIII

4. % had 11

Question Number : 136 Question Id : 753229340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Flat-topped volcanic hills submerged under ocean water are called
Options :

1. * Deep-sea trench

2. ¥ Guyots

3. % Abyssal hills



4. ¥ Submarine canyons

Question Number : 136 Question Id : 753229340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g & UM § geft T et arelt saremge veifsar FHgand gl
Options :

1. % TR 9qg &9

2. A

3. % fqadia ysifear

4. % JIgSHT higH

Question Number : 137 Question Id : 753229341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which layer of atmosphere, concentration of ozone is found?
Options :

1. # Troposphere

2. % Exosphere

3. ¥ Stratosphere

4. ¥ Mesosphere

Question Number : 137 Question Id : 753229341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
argHed i fbg TR H, 3o &) Figar ure ot 82
Options :

1. ® gy Hsd

2. % gfgdsd

3. ¥ JHAOHSA

4. ® AYHSA



Question Number : 138 Question Id : 753229342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sub-tropical high pressure belt extends between the latitudes of in both the hemispheres.
Options :

1. ¥ 25 degree-35 degree

2. % 60 degree-65 degree

3. % 5 degree-3 degree

4. % 23 degree-66 degree

Question Number : 138 Question Id : 753229342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SUW I G deC gHI AT B & 3l & o el g8 &
Options :

1. ¢ 25 f&3il-35 T

2. % 60 f&Tt -65 TSl

3. % 5 &l -3 feht

4. % 23 f&Ut 66 TSI

Question Number : 139 Question Id : 753229343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
One of the main greenhouse gases is
Options :

1. # Nitrogen

2. ¥ Methane

3. % Oxygen

4. ¥ Hydrogen

Question Number : 139 Question Id : 753229343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T M3 I o 9 U gl
Options :

1. % TIScreH

2. ¢ Higq

3. % i

4. % GBS

Question Number : 140 Question Id : 753229344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following factors control the distribution of temperature?
I. Altitude

II. Nature of land and water

III. Ocean currents

Options :

l. # Tand II

2. % Il and IIT
3. % Only I

4. 1,11 and 11T

Question Number : 140 Question Id : 753229344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 1dYT 11

2. % I dUTIII




3. % Had |

4. 1,11 YT I
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Question Number : 141 Question Id : 753229345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A fully spread climograph represents which of the given climatic conditions?
Options :

1. # Monsoon type

2. ¥ Mediterranean type

3. # Dry continental type

4. ¥ British type

Question Number : 141 Question Id : 753229345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP 11 A6 Y el gl FemsHIuTG &l T siaarg uRiufaal # 9 farae ufafAfia Hadr g2
Options :

1. ® HEATUPR

2. % HHYIR UhR

3. ® &b HETGIU YR

4. ¢ T UBR

Question Number : 142 Question Id : 753229346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If A represents ‘insects’ , B represents ‘hawk’ , C represents ‘snake’ and D represents ‘frogs’, then which of the following food chains is in the
correct order?

Options :

1. % C-D-B-A
2. % B-A-C-D
3. ¥ A-D-C-B
4. % D-C-A-B

Question Number : 142 Question Id : 753229346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ C-D-B-A

2. % B-A-C-D

3.¥ A-D-C-B

4. % D-C-A-B

Question Number : 143 Question Id : 753229347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following combination of gases is correctly sequenced in the ascending order of their percentage in the atmosphere?
Options :

1. ¥ Hydrogen, Methane, Argon, Oxygen

2. % Oxygen, Nitrogen, Helium, Xenon

3. % Argon, Carbon dioxide, Helium, Oxygen

4. % Methane, Argon, Nitrogen, Hydrogen

Question Number : 143 Question Id : 753229347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad & @ %1 &1 S A1 GaioH aigHed H 3 Uf=RId & SRIg! v & el 67 ¥ SFIhHd g2
Options :

1. ¢ gIEsloM, #1YH, 3, ffaitom

2. % 3f{qioH, AglSH, giferad, it

3. % 3, Bl SRIHRISS, BIerH, Sfiaior

4. % Y, 3, AZCIoH, BRI

Question Number : 144 Question Id : 753229348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In soil horizon, the R layer represents
Options :



1. ¥ Consolidated rocks
2. % Silicate clay material
3. # Organic matter

4. ¥ Weathered parent material

Question Number : 144 Question Id : 753229348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR RRa . w1 ufdRRa s R
Options :

1. ¢ ghfdd g™

2. % fYferbe fgt et

3. % PlaHD U

4. % 3(UEHUT ST AT

Question Number : 145 Question Id : 753229349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Khardung La pass is situated in

Options :

1. % Arunachal Pradesh

2. % Uttarakhand

3. # Sikkim

4. ¥ Ladakh

Question Number : 145 Question Id : 753229349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ARG A1 & A fREgI
Options :

1. % ST UG



2. % JIRES
3. % Yfgey
4. ¥ e

Question Number : 146 Question Id : 753229350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which state of India, the rains caused by thunderstorms are called ‘Cherry Blossoms’?
Options :

1. % Meghalaya

2. ® Gujarat

3. ¥ Karnataka

4. # Uttarakhand

Question Number : 146 Question Id : 753229350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Hurey

2. % IRId

3. FHlCH

4. % ITRES

Question Number : 147 Question Id : 753229351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the second largest brackish water lake on the Coromandal coast?
Options :

1. % Loktak lake

2. ¥ Pulicat lake



3. #® Renuka lake
4. % Kolleru lake

Question Number : 147 Question Id : 753229351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Slhdd Sitd

2. ¢ Yfdiee oiid

3. % T el

4. % Dl ol

Question Number : 148 Question Id : 753229352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Malwa plateau is bordered by the
I. Aravallis in the north
II. Vindhya range in the south

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 148 Question Id : 753229352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :



1. % FHadl
2. % HAd I
3. ¢ [ QYT I gl
4. % 1B

Question Number : 149 Question Id : 753229353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to Koeppen'’s classification of Indian climate, which of the pair of ‘Climate code — Climate type’ is correct?
Options :

1. ¥ As — Tropical moist

2. % Dfc — Mesothermal climate

3. ¥ Amw — Tropical Savanna

4. % Cwg — Tundra climate

Question Number : 149 Question Id : 753229353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ As — Wb ICaEg 79

2. % Dfc — AU SIedry

3. % Amw — SUIGHTCS T M

4. % Cwg - TSl @AY

Question Number : 150 Question Id : 753229354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following continents has the largest share of population?
Options :

1. # Europe



2. % Asia
3. # Africa
4. % North America

Question Number : 150 Question Id : 753229354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % U

2.« TR[AI

3. % 3(IBIchT

4. % IR AR

Question Number : 151 Question Id : 753229355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the Weber’s model of industrial location, which of the following factors must be assessed to find the point of least transport cost?
I. Distance of the location
II. Weight being transported

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 151 Question Id : 753229355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1. SR Bt gl
11. URgg fhd 9 91T YR
Options :

1. % Had 1
2. % HAdII
3. ¢ 1 AU Gl
4. % qEIIATR I

Question Number : 152 Question Id : 753229356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the major exportable item of the Hooghly industrial region?
Options :

1. % Tron and steel

2. % Jute

3. # Agricultural equipment

4. # Cotton

Question Number : 152 Question Id : 753229356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % dgT 3R Swrd

2. ¥4

3. % PV IUBRT

4. % HU™

Question Number : 153 Question Id : 753229357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Kharif crops are harvested in
Options :

1. ¥ April-May

2. ¥ September-October

3. # January-February

4. ¥ November-December

Question Number : 153 Question Id : 753229357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
WEHId @l dpels U onigl
Options :

1. % UT-AS

2. ¢ RYdaR-3{IgR

3. % STaRI-TRaR!

4, % JIR-fATwR

Question Number : 154 Question Id : 753229358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A type of farming in which a single crop is grown on a large area is called
Options :

1. # Intensive farming

2. ¥ Plantation agriculture

3. % Dry farming

4. # Shifting agriculture

Question Number : 154 Question Id : 753229358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :



Question Number : 155 Question Id : 753229359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following geographical conditions is required for the cultivation of sugarcane?
L. It grows best in the tropical regions.

II. The soil should be well drained.

III. The normal planting season is April-May.

Options :
1.¥ Tand II
2. % Only III
3. % Tand I
4. % Il and III

Question Number : 155 Question Id : 753229359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.« 1dYT 11
2. % & 11
3. % 1dYUT I
4, % T dYUT I

Question Number : 156 Question Id : 753229360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Indian satellite ‘CARTOSAT-1" launched in 2005 is a .
Options :

1. # weather forecasting satellite

2. # navigation satellite

3. % communication satellite

4. # earth observation satellite

Question Number : 156 Question Id : 753229360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2005 H U&TUT HR1A JUUG ‘CARTOSAT-1'T&H B
Options :

1. % A | gafgaHE Swie

2. % AR IuUE

3. % IR IUUs

4. ¢ Gl 3{dclih IUUT

Question Number : 157 Question Id : 753229361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the tidal seaport in India?
Options :

1. # Kochi

2. ¥ Kandla

3. % Mormugao

4. % Ennore

Question Number : 157 Question Id : 753229361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % P

2. ¥ Higdl

3. % ARSI

4. % TIR

Question Number : 158 Question Id : 753229362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Saffir-Simpson scale is used to measure the intensity of
Options :

1. # Earthquake

2. ¥ Hurricane

3. * Volcanic eruption

4. % Tornado

Question Number : 158 Question Id : 753229362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Y&y

2. ¢ gl

3. % S fawple

4. ® TRAS!

Question Number : 159 Question Id : 753229363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a terrestrial disaster?



Options :

1. # Hailstorm
2. % Lightning
3. % Landslides
4. # Cyclone

Question Number : 159 Question Id : 753229363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofifed o 9 319 W e Rielid el g2

Options :

1. % gy

2. % THIRY fororeit
3. % YA

4, ¥ dehdld

Question Number : 160 Question Id : 753229364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hazards are divided into two major categories on the basis of duration. Which of the following is correctly matched?
I. Short-duration hazard —Tornado
II. Long-duration hazard - Avalanche

Options :

1. % Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 160 Question Id : 753229364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1. BT 3af BT YaRT - eRAS!
11, Tl 3fafy T | — TeAageH
Options :

1.« Had 1
2. % HAdII
3. % [ UGl
4. % qEIIATR I
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Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 753229365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

India is divided into damage risk zones on the basis of the historical seismicity and strong ground motions. Which of the following areas come
under the Zone V?

I. Kutch in Gujarat

II. Parts of Jammu and Kashmir

II1. North-eastern states

Options :

1. * Tand II

2. % Only III

3. % Only II
4.+ 1, 1l and III

Question Number : 161 Question Id : 753229365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® 1qUTII

2. % FHad 111

3. % Had Il

4. 1,11 YT I

Question Number : 162 Question Id : 753229366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A common method used to measure poverty is based on the
I. income level
II. consumption level

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 162 Question Id : 753229366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had 1

2. % HAd Il

3. ¢ 1 UGl
4. % qEIIATE I

Question Number : 163 Question Id : 753229367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a measure of economic development?
Options :

1. ¥ Geographical conditions

2. % Standard of living

3. # Incidence of poverty

4. % Green Index

Question Number : 163 Question Id : 753229367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ Yiifere gRfRufaai

2. % GiIgT ¥R

3. % TR B ge

4. % YH Abidh

Question Number : 164 Question Id : 753229368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Economic factor which influences economic development is
Options :

1. # Governance

2. % Entrepreneurship

3. % Technological Advancement

4. ¥ Developmental Social Attitude

Question Number : 164 Question Id : 753229368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. * M

2. % I

3. ¢ debrilpt IAfd

4. % faoTTES AT Mgl

Question Number : 165 Question Id : 753229369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following components help in the analysis of the growth of India’s foreign trade?
I. Volume of trade

II. Direction of trade

1. Composition of trade

Options :

1. # Iand II

2. % Only III

3. % Il and III
4. 1,11 and 11T

Question Number : 165 Question Id : 753229369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 14Ut

2. % DA I
3. % IIdYUT I
4. 1 11 dYTIII

Question Number : 166 Question Id : 753229370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The tertiary sector in an economy includes
I. Banking
II. Transport

Options :
1. % Only I
2. % Only II



3.4 BothIand II
4. % Neither [ nor 11

Question Number : 166 Question Id : 753229370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1. Sfb
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Options :

1. % Had 1

2. % HAd Il

3. ¢ 1 UGl
4. % AT I

Question Number : 167 Question Id : 753229371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The cash which banks have to maintain with the Reserve Bank of India as a certain percentage of their demand and time liabilities is called

Options :

1. # Statutory liquidity ratio

2. # Liquidity adjustment facility
3. % Cash reserve ratio

4. % Market value ratio

Question Number : 167 Question Id : 753229371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % qifqferes e U



2. % AW FHRISH Jfaur
3. ¢ Tl RI& FfE srgurd
4. % R G U

Question Number : 168 Question Id : 753229372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Government of India introduced Cash Management Bills (CMBs) in
Options :

1. % 2001

2.9 2010

3. % 2005

4. % 2015

Question Number : 168 Question Id : 753229372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR TWHR A T T vee foe (ieadh) o e
Options :

1. % 2001

2.9 2010

3. % 2005

4. % 2015

Question Number : 169 Question Id : 753229373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which technique of credit control involves buying and selling of government securities?
Options :

1. # Moral suasion

2. # Liquidity adjustment facility

3. # Repurchase agreement



4. ¥ Open market operations

Question Number : 169 Question Id : 753229373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Afqe sfvoRom

2. % AW oIS Jfaur
3. % QIond 3y

4. ¢ Gl IR URaTe

Question Number : 170 Question Id : 753229374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is NOT correct regarding the functions of the RBI?
Options :

1. ¢ It formulates regulation guidelines for investors.

2. % It acts as a banker to the Government.

3. # It manages and controls the foreign exchange.

4. ® It issues currency notes.

Question Number : 170 Question Id : 753229374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 171 Question Id : 753229375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the division of power in the constitution of India, residuary powers of legislation are vested in which of the following?
Options :

1. # The state

2. % The union

3. ® The supreme court of India

4. ¥ Legislative council of India

Question Number : 171 Question Id : 753229375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Y

2. ¥ Y

3. % YRd &1 gdre e

4. % YR &I faur giug

Question Number : 172 Question Id : 753229376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The constitution of India federalises its powers and authority at the and level as units of local self-governance.

Options :

1. #* union, state
2. % state, zonal
3. # village, tehsil

4. ¥ village, municipal

Question Number : 172 Question Id : 753229376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® U, Y

2. % Iy, 3faferd

3. % i, dg4id

4. ¥ T, TR UTfcIp]

Question Number : 173 Question Id : 753229377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a feature of Indian federalism?
Options :

1. ® Distribution of federal powers on a non-centralized basis
2. % Creation of the institutions of shared rule

3. ¢ Individual control over all decision making

4. ® Territorialisation of federal-local administration

Question Number : 173 Question Id : 753229377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % IR-BAIPd YR W Je Afaedl &7 faaron

2. % YIS AR & G| BT A0

3. ¢ Qi il & o1 IR safaara A=

4. % HIG-RIHIY TR BT QT

Question Number : 174 Question Id : 753229378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
helps in coordinating inter-state and union-state relations for the consensual working of the federal system in India.
Options :
1. #* Union council
2. ¥ Inter-state council
3. % District council

4. % Zonal council

Question Number : 174 Question Id : 753229378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % I9 URuq

2. ¢ AR GREG

3. % e gikwg

4. % 3T URYg

Question Number : 175 Question Id : 753229379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following parties emerged as a dominant party after the independence of India?
Options :

1. ¥ Indian National Congress

2. # Bharatiya janta party

3. ¥ Communist party of India

4. ¥ Bahujan samaj party

Question Number : 175 Question Id : 753229379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ YRR AP B
2. % YR Siar aréf

3. % YRd B HRIRC TIet
4. % Fgo QU Urel

Question Number : 176 Question Id : 753229380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following parties replaced the Indian National Congress party at the centre in 1977 general election?
Options :

1. ® All India Trinamool Congress

2. % Bahujan Samaj Party

3. # Communist Party of India

4. ¥ Janata Party

Question Number : 176 Question Id : 753229380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % e YR JUIe B

2. % Sgo JH el

3. % URA B HRIFRC TSt

4. a1 uref

Question Number : 177 Question Id : 753229381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In India, elections of the are carried out using the first-past-the-post electoral system.
Options :



1. # President of India

2. # Vice-president of India
3. % Lok Sabha

4. # Rajya Sabha

Question Number : 177 Question Id : 753229381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % YRd & AyUfd

2. % YRd & IWRIPUfd

3. ¢ AIBHHT

4, % g JHT

Question Number : 178 Question Id : 753229382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following years were the first general elections held in India?
Options :

1. % 1952

2. % 1955

3. % 1958

4. % 1960

Question Number : 178 Question Id : 753229382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafoied o 9 ford av & YRd & uga oM g1d g um
Options :

1. ¥ 1952




2. % 1955
3. % 1958
4. % 1960

Question Number : 179 Question Id : 753229383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In India, the members of the Legislative Council are elected by
Options :

1. ¥ an electoral college

2. % the people of India

3. # cabinet ministers only

4. # the president of India

Question Number : 179 Question Id : 753229383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ T fataeo

2. % YRd & AN

3. % $ad dbfa-e w3t

4. % YRd & APUfd

Question Number : 180 Question Id : 753229384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following features are part of the concept of democracy?
I. Equality

II. Autocracy

III. Autonomy

Options :



1. # Iand II

2. % Il and III
3.9 Tand III

4. % [ Il and III

Question Number : 180 Question Id : 753229384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 14Ul

2. % IIdYTIII
3.9 TdUT I
4, % I, I dYT I
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Question Number : 181 Question Id : 753229385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following types of democracy mainly emphasis on the institutions of democracy?
I. Procedural democracy

II. Substantive democracy

III. Social democracy

Options :

1. % Only I

2. % Only II

3. % land II

4. % I, 1l and III

Question Number : 181 Question Id : 753229385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ Had 1

2. % Hhad Il
3.% 144t

4, % I, I dYT I

Question Number : 182 Question Id : 753229386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT an unit of the local-self government in India?
Options :

1. # Panchayati Raj Institutions

2. # Municipal Corporations

3. % NITI Aayog

4. ¥ Municipal Council

Question Number : 182 Question Id : 753229386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % G 1ol SR

2. % TR

3. Hifd ST

4. % TR UTfeleh] GRS

Question Number : 183 Question Id : 753229387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following are the three-tiers of Panchayati Raj in India?
I. Block level



II. District level
III. Nagar Palika

Options :

1.¥ Tand II

2. % Il and III
3. % TandIII

4. # I, 1I and III

Question Number : 183 Question Id
Orientation : Vertical

: 753229387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. 1dUT Il

2. % I dYTI
3. % [dYUTII
4, % I, I dYT I

Question Number : 184 Question Id
Orientation : Vertical

: 753229388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Who campaigned to start the new political system of Panchayat Democracy in Nepal?

Options :

1. # King Tribhuvan

2. # Prithvinarayan Shah
3. % King Mahendra

4. # Jung Bahadur Rana

Question Number : 184 Question Id

: 753229388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % ST BAYa

2. % AR TG

3. ¢ o He %

4. % ST §GIGR UM

Question Number : 185 Question Id : 753229389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following years, did the Chaco War Start?
Options :

1. % 1935

2.9 1932

3. % 1936

4. % 1933

Question Number : 185 Question Id : 753229389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1! g Fafafed & 9 fog av 4 3= gemum
Options :

1. # 1935

2.9 1932

3. ¥ 1936

4. % 1933

Question Number : 186 Question Id : 753229390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following parts of the Indian constitution deals with the amendments to the constitution?
Options :

1. * Part XXI

2. ¢ Part XX

3. ¥ Part XVIII

4. % Part XVII

Question Number : 186 Question Id : 753229390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRTT Tfau™ &1 FafaRad 3 3 o1 91 Ui Sfaum & SR 3 Seid 82
Options :

1. # HIT XXI

2. % HT XX

3. % YT XVIII

4. % YT XVII

Question Number : 187 Question Id : 753229391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pairs is correctly matched?

Articles Provisions
I | 341 — | Scheduled castes
I | 3404 _ | Socially and educationally

backward classes
National commission for
backward classes

III | 338 =

Options :
l.¥ Tand I
2. % Il and III
3. % Tand III



4. % 111 and IIT

Question Number : 187 Question Id : 753229391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied o @ & a1 g Tg! &1 9 gafed g2
=g 39T
I |341 - | g Sfaar
Ao 3T fdw
II |342A | -
o o Reg T
o Tt & o
IIT | 338 -
TSI AT
Options :
1.« 1dUT I
2. % I dUTIII
3. % [dUTIII

4. % LI dYTIII

Question Number : 188 Question Id : 753229392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following articles of the Indian constitutions deals with the provisions as to judges of High courts?
Options :

1. * Article 392

2. % Article 378

3. % Article 376

4. * Article 393



Question Number : 188 Question Id : 753229392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR Siaer o1 Fafeied & 9 o9 a1 srfwde 3= Urarerdl & rndien & yraym 9 et 82
Options :

1. % 3fTw9G 392

2. % 3G 378

3. ¥ TG 376

4. % TG 393

Question Number : 189 Question Id : 753229393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Part XVIII of the Indian constitution deals with provisions.
Options :

1. # miscellaneous

2. # temporary, transitional and special

3. % emergency

4. # panchayat

Question Number : 189 Question Id : 753229393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRATT AT BT URT XVIIT TraeT & Sefd g
Options :

1. % fafqy

2. % ST, UhHUIHTeH SR IR

3. ¥ 3TUTdDTA A

4. % UIIOd

Question Number : 190 Question Id : 753229394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following states is NOT mentioned in Part XXI of the Indian constitution?
Options :

1. ¥ Punjab

2. % Assam

3. ®* Goa

4. ® Manipur

Question Number : 190 Question Id : 753229394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR Hfaem & yiT xx1 H FafaRed § 9 forg e &1 S T8l 82
Options :

1. ¢ GSTd

2. % 3H

3. % T

4. % AOTQR

Teaching Methodology
Group Number : 11
Group Id : 75322922
Group Maximum Duration : 0
Group Minimum Duration : 120
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 10

Is this Group for Examiner? : No



Teaching Methodology

Section Id : 75322922
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 10
Section Marks : 10
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 75322926
Question Shuffling Allowed : Yes

Question Number : 191 Question Id : 753229395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is NOT correct?

Options :

1. ¥ Social studies seeks social utility.

2. % Social sciences represent an adult approach.

3. # Social studies is concerned with practical aspects of human affairs.

4. ® Social sciences are studied through idealistic approach.

Question Number : 191 Question Id : 753229395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 & 91 HY= 98 T8l 82

Options :

1. « ATATRTES 31eqg- AT SUTIRIAT &1 Wl BT |

2. % RIS a9 U 99 2P I0 Udd ral g |

3. % QIS 3{eqg AFAIg e & TagRTdS Tgqsil ¥ Tefdd ]|
4. % JrATRoTR fART o7 3100 Uh 3SRl IUNTH & HIegH W BT g |




Question Number : 192 Question Id : 753229396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following are the general features of a Learner Centered Social Sciences class?
I. Going beyond the textbook

II. Creating space for exploration into social issues

III. Using audio visual materials

Options :

1. * Il and III
2.9 [, Il and III
3. * Only I
4. % T and III

Question Number : 192 Question Id : 753229396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafaa & I o O Riemlf Siga gmioe fagm wan o g foRivdmg g2
. UTIYdSh o HfqRed T

L. TS Gl § 390l & ot R giord =1

111, % TG AUt BT ST HAT

Options :

1. ® [1TUT I

2.¢ 1, 11 AU I

3. % had Il

4. % 1dYUTIII

Question Number : 193 Question Id : 753229397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Decisions about which of the following are affected by Assessment?
I. Advancement



II. Instructional need
III. Grades

Options :

1. # Il and III
2. % Tand II

3. [ Il and III
4, % Only II

Question Number : 193 Question Id : 753229397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ﬁag?ﬁ@aﬁ@r%%aﬂﬁﬁvh, 3T Y THITAd B &2
L.

11. FeTa® sazgedr
N

Options :
1. % I dYrI
2. % 14Tl

3.9 1 I AYTIII
4. % HaA Il

Question Number : 194 Question Id : 753229398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following are the aspects of an effective classroom management?
I. Promoting classroom interaction

II. Building congenial environment for learning

III. Maintaining healthy interpersonal relationship

Options :

1. # Il and III
2. % TandIII

3. % Only II

4. % ], 11 and III



Question Number : 194 Question Id : 753229398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o o ¥ &9 I Ue yurd ser veeE & Usqg 82
1. Hem ¥ 3id:fopar &) agrar &

1. 3T & foIT S d aTareaRul &1 AT H=AT

111, W 3fqaafadd Jee S TG

Options :

1. % [ITUTII

2. % YT

3. % Had I

4. 1 11 dYTIII

Question Number : 195 Question Id : 753229399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Visual arts is about communicating an
I. idea

II. concept

III. emotion

Options :

1. # II and III
2. % Jand II
3.9 1, Il and I1I
4. % Only III

Question Number : 195 Question Id : 753229399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TG Hell & ARG P B IR A 5|
1. faaR



1. HH U1

M. HIgAT
Options :

1. % I1dUT I
2. % 14dUTII
3.9 1 I AT 1T

4. % Had I

Question Number : 196 Question Id : 753229400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following combination about general characteristics of Extrovert and Introvert is NOT correct?
Options :

1. # Likes to work alone — Introvert

2. ¥ Governed by objective data — Introvert

3. % Free from worries — Extrovert

4. ® Fluent in speech — Extrovert

Question Number : 196 Question Id : 753229400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sferw ok sfaufh & wmr faRwarsit & aR & fofafed § 3 o a1 TdieH 98 et 82
Options :

1. % 3fhdl BT BT UG Sl | - Sfag!

2. ¢ MY SMps! gRT e - sfad

3. % RfaTen @ o - sfRd

4. % g P - oYl

Question Number : 197 Question Id : 753229401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



What are the benefits of Inclusive Education?
L. It can help break the cycle of poverty and exclusion
I1. It promotes wider inclusion of individuals for the development of the nation

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 197 Question Id : 753229401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR e & Ay g2

1. I8 TRIdT iR ISR & Tsh P dig- H Aeg B gbdl §

I1. I8 1Y & {3 & fore safdat & e e ) deTar &t
Options :

1. % Had 1

2. % HAd Il

3. [ QYT ISl

4. % qEIIATE I

Question Number : 198 Question Id : 753229402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What measures the government should take for the empowerment of women and girls?
I. Providing finance to girl’s education on priority basis
I1. Making provision for incentives like free books, scholarships

Options :

1. * Only I

2. % Only II

3. % Both I and II
4. # Neither I nor II



Question Number : 198 Question Id : 753229402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

afgaratt 3R dsfHal & gfaae v & filt TRHR &) T IUTT B A1MRT?
1. S1feThT 1 TR1&M b1 UTdffhdl & STYR WR fad UaM &1

1. F:R[eh !, SEGRA! o WicTeH! & Tt TaeT T

Options :

1. % $had |

2. % had Il

3. ¢ 1 AU Gl

4. % qGIIATE I

Question Number : 199 Question Id : 753229403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafiRad § ¥ SH-8 YR &1 SgHTST & JHI0T T8l 82
1. o

11. s

L. ¥l
Options :

1. % I, I1 dYT I
2. % J1 dYUTIII

3. % Had Il
4.« ATBIIATBI AT I

Question Number : 199 Question Id : 753229403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following are NOT the evidences of multilinguality of India?
I. Movies

II. Radio

II1. Schools



Options :

1. % [, Il and I1I

2. % Il and III

3. % Only III

4. ¥ Neither I nor II nor II1

Question Number : 200 Question Id : 753229404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a method of assessment in language learning?
L. Oral test
II. Observation

Options :

1. % Only I

2. % Only IT

3. % BothIand II
4. ¥ Neither I nor II

Question Number : 200 Question Id : 753229404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad & 9 o= I 1T T H 3iTea & U fafy 78t 82
1. T uier
1. 3[aciH

Options :

1. % Had |

2. % Had II

3. % [ QYT
4. TIRIIATR I



